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Question Id : 4255897291 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

Study the table given below and answer the questions :

The table gives the breakup of expenses (in percentage) incurred on various Heads in organizing a
cultural event in a college.

Sound
Head Tent Item _— Invitation |Lighting| Food| Poster Making
System
Expenses (%) 20% 15% 10% 20% | 25% 10%

Sub questions

Question Number : 1 Question Id : 4255897292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If the college has paid ¥ 41200 for Tent Items, then how much amount has been paid for Food ?
(1) T 32960

(2) T 51500

(3) T 41200

(4) T 10300

Options :

42558928356. 1

42558928357. 2

42558928358. 3
42558928359. 4

Question Number : 2 Question Id : 4255897293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If the amount paid for Lighting was ¥ 24690, then how much total amount was paid for Tent
[tems and Poster Making ?

(1) ¥ 24690

(2) ¥ 12345

{3) T 37035

(4) T 49380

Options :

42558928360. 1

42558928361. 2

42558928362. 3
42558928363. 4

Question Number : 3 Question Id : 4255897294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

It the total expenditure was ¥ 43000 (Forty three thousand rupees), then what is the difference of
amounts between the highest paid Head and two lowest paid Heads taken together ?

(1) %2150

(2) T 6450
(3) T 4300
(4) T 8600
Options :

42558928364. 1
42558928365. 2
42558928366. 3



42558928367. 4

Question Number : 4 Question Id : 4255897295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If the combined amount paid for the Tent Items and Lighting was ¥ 24690, then how much
combined amount was paid for Food and the Sound System ?

(1) T 12345
(2) T 24690
(3) T 37035
(4) T 49380
Options :
42558928368. 1
42558928369. 2

42558928370. 3
42558928371. 4

Question Number : 5 Question Id : 4255897296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the difference between the expenses on Food and Poster Making, if we assume that the
total expenses of the event were ¥ 67880 ?

(1) % 16970
(2) %6788
(3) ¥ 23758
(4) T 10182
Options :

42558928372. 1
42558928373.2
42558928374.3
42558928375. 4



Question Id : 4255897291 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

e &F 7S iferenT ST STSIE ShIfST 9T WY I & ST Sy
anferert ® foret shferst ® wivepfas Frefwa st wm o fafy= wel § gu = @ gfowd fem mn e

qe  |3= wra | wrde few | e | e | b (@) | dee fo
= (%) | 20% 15% [ 10% [20% | 25% 10%

Sub questions

Question Number : 1 Question Id : 4255897292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g FieTs R 2= WA 3 TAIQ T 41200/ - 1 YA ok €, o @re | # fohe= =i s HEm@e ol 78
€7

(1) T 32960
(2) % 51500
(3) T 41200
(4) % 10300

Options :

42558928356. 1
42558928357.2
42558928358. 3
42558928359. 4

Question Number : 2 Question Id : 4255897293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

afg TeRTeT o o sfram ot e SRR € 24690/ o, A T WM SR e fawor % few e et
AT SRT e fekar T o ?

(1) T 24690
(2) % 12345
(3) ¥ 37035
(4) T 49380

Options :

42558928360. 1
42558928361. 2
42558928362. 3
42558928363. 4

Question Number : 3 Question Id : 4255897294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

afg o1 99 1 TS HAURT T 43000/ (FaTfed g9 T4 off, @ Haffuer Jmam sl 7 iR 1 ¥g% w9
T f7Tam M St w6l Sl 6 i fRam g 2

(1) T 2150
(2) T 6450
(3) ¥ 4300
(4) % 8600

Options :

42558928364. 1
42558928365. 2



42558928366. 3
42558928367. 4

Question Number : 4 Question Id : 4255897295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

afe &= arnit oIk W o for sTar = T g i 24690/ o, @ W o aRs foven W Hgw
®Y @ ki e A R off ?

(1) T 12345
2) ¥ 24690
(3) ¥ 37035
(4) % 49380
Options :

42558928368. 1
42558928369. 2
42558928370. 3
42558928371. 4

Question Number : 5 Question Id : 4255897296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

afg &0 I8 WA & fF 3de (AERH) W Fe 9 T 67880/ 1, A1 @ 3R U fmivr & He W = #
s fepa &2

(1) T 16970

(2) T 6788

(3) T 23758

(4) T 10182
Options :

42558928372. 1
42558928373. 2
42558928374. 3
42558928375. 4

Sub-Section Number : 2
Sub-Section Id : 425589294
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 4255897297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following acts, researcher does not maintain research ethics ?

(1) Converts interval scale data into ordinal scale data to apply non-parametric test
(2) Does not disseminate the findings of research

(3) Shares confidential information of the subjects with others

(4) Collects data from secondary sources

Options :

42558928376. 1
42558928377.2
42558928378. 3
42558928379. 4



Question Number : 6 Question Id : 4255897297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558928376. 1

42558928377. 2

42558928378. 3
42558928379. 4

Question Number : 7 Question Id : 4255897298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Descriptions of some measurements are given below. Select correct order to arrange them from

lower level of scales of measurement involved in them to higher level.

A.  Height of the students are measured in centimeter.

B. Marks are given to the students after assessing their answer books of English language.

C. Students are informed about their relative positions based on their performance in singing
competition.

D. Number of students of different subjects are counted in a particular college.

Choose the correct answer from the options given below :

(1) A BCD

2) D,CB A

3) C.BAD

4) ADCB

Options :

42558928380. 1

42558928381. 2

42558928382. 3
42558928383. 4



Question Number : 7 Question Id : 4255897298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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@4 ADCB
Options :

42558928380. 1
42558928381. 2
42558928382. 3
42558928383. 4

Question Number : 8 Question Id : 4255897299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the sources of hypothesis formulation.

A.  Sampling method used for research

B Reports of earlier research

C.  Beliefs prevailing in the area of selected problem

D Prior-experience of researcher in the area of selected problem
E Type of population

Choose the most appropriate answer from the options given below :
(1) B,CandD Only

(2) B,CandE Only

(3) A, Cand E Only

(4) C, D andE Only

Options :

42558928384. 1

42558928385. 2

42558928386. 3
42558928387. 4



Question Number : 8 Question Id : 4255897299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

WreRed i % EiE %1 fafea Fife

A. 9™ % foe wgaa gfaeed fafy

B. 9 % W (SIHUM) & gftesd
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= feu o fowedi § @ W@ SO A ¢

(1) %ad B, C #RD

(2) %94 B, C 3RE

(3) aa A, C 3IRE

(4) 9@ C, D SRE
Options :

42558928384. 1
42558928385. 2
42558928386. 3
42558928387. 4

Question Number : 9 Question Id : 4255897300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify non-probability sampling methods.
A.  Systematic sampling

B Purposive sampling

(= Quota sampling

D. Stratified random sampling

E Snow-ball sampling

Choose the most appropriate answer from the options given below :
(1) B,Cand E Only

(2) A, BandE Only

(3) A, Band COnly

(4) A, B CandE Only
Options :
42558928388. 1
42558928389. 2

42558928390. 3
42558928391. 4



Question Number : 9 Question Id : 4255897300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
R-gureral wfa=e fafu=i = fafea Fifew .
A, geEfeyd giaemE
B. Higeyd gfaaeA
C. =i wfaaas
D. Wia agfee® wfa=a
E. feu g (wreme) gfa=ae
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(1) ©ea B, C AR E

(2) %Ed A, B3RE

(3) A A, B3R C

(4) 9@ A, B, C 3RE
Options :

42558928388. 1
42558928389. 2
42558928390. 3
42558928391. 4

Question Number : 10 Question Id : 4255897301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II :

List - I List - 11

(Problem) (Type of research)
A.  Development of theory of relativity L. Action research
B.  Comparison of the effect of two II.  Qualitative research

teaching methods on the achievement
of the students in a science subject

C.  Study of the reasons of lack of [II. Fundamental (basic) research
commitment of the employees of
an organization towards their duties

D. Study of educational thoughts emerging [V. Applied research
from the speech of a social reformer

Choose the correct answer from the options given below :

(1) A-II, B-1V, C-[, D-II

(2) A-IV, B-1, C-II, D-1I

(3) A-IL B-IV, C-I, D-1II

(4) A-II, B-1I, C-1V, D-I

Options :

42558928392. 1

42558928393. 2

42558928394. 3
42558928395. 4



Question Number : 10 Question Id : 4255897301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) A-IN, B-1V, C-I, D-II
(2) A-1V, B-l, C-11, D-1I
(3) A-I, B-IV, C-I, D-1II
(4) A-II, B-1I, C-1V, D-1

Options :

42558928392. 1

42558928393. 2

42558928394. 3
42558928395. 4

Question Number : 11 Question Id : 4255897302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following articles of Indian constitution is related to ‘Right of minorities to establish
and administer educational institution ?

(1) Art 28
(2) Art 29
(3) Art 30
(4) Art. 31 A
Options :

42558928396. 1
42558928397. 2
42558928398. 3
42558928399. 4



Question Number : 11 Question Id : 4255897302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
IR Waer &1 #H W1 See SeTHEad] F Nefues el w T ud e Sedl sfuer §
Tafa g2

(1) =g 28

() =T 29

(3) =% 30
)

(4) T3 A
Options :

42558928396. 1
42558928397. 2
42558928398. 3

42558928399. 4

Question Number : 12 Question Id : 4255897303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

It is said that Takshashila University was named after Taksha, son of
(1) Buddagupta raja

(2) Kanda, the younger son of Gandharvas

(3) Tathagata gupta raja

(4) Bharata, the younger brother of Rama of Ramayana

Options :

42558928400. 1

42558928401. 2

42558928402. 3
42558928403. 4

Question Number : 12 Question Id : 4255897303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558928400. 1
42558928401. 2
42558928402. 3
42558928403. 4



Question Number : 13 Question Id : 4255897304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following institutions chronologically as per their year of establishment.
A.  Banaras Hindu University

B.  Jawahar lal Nehru University

C. Indian Institute of Science (IISc) Bangalore

D.  University of Delhi

Choose the correct answer from the options given below :
(1} B,CDA

2y CADB

3) CBAD

4) D, A BC

Options :

42558928404. 1

42558928405. 2

42558928406. 3
42558928407. 4

Question Number : 13 Question Id : 4255897304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Frefefaa favafaemeri = 37 T a4 & AT FIATHET H AT HIi ;

A, TAE fe= favafazmea
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i BCDA
2 CA DB
3) CB,AD
4 D,ABC

Options :

42558928404. 1

42558928405. 2

42558928406. 3
42558928407. 4



Question Number : 14 Question Id : 4255897305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statements about Post-Vedic Education.

A. Post-Vedic education was not meant only for the sake of education. It was for the sake of
life.

Self study was emphasized

The student who studied three vedas was called "Vaidya'
Upanishads are considered to be above all kinds of material knowledge

B
G Upanishads are known as ‘Para-Vidya’
D
E

Choose the correct answer from the options given below :
(1) A, B C, DOnly

(2) A,C D, EOnly

(3) B,C, D, E Only

(4) A B CEOnly

Options :

42558928408. 1

425589284009. 2

42558928410. 3
42558928411. 4

Question Number : 14 Question Id : 4255897305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T aifes foen & = ® wE wuA g
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(1) %8 A, B,C, D

(2) ¥4 A, CD,E

(3) 9@ B,C,D,E

(4) %A A, B, C E

Options :

42558928408. 1
42558928409. 2
42558928410. 3
42558928411. 4



Question Number : 15 Question Id : 4255897306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - II :

List - I List - II
(Language) (Year of inclusion in eighth schedule)
A.  Bodo L 1950
B.  Punjabi I. 1967
C. Sindhi ml. 1992
D. Nepali IV. 2003

Choose the correct answer from the options given below :
(1) A-I, B-II, C-1V, D-I

(2) A-II, B-III, C-1V, D-1

(3) A-IV, B-l, CI, D-1II

(4) A-IV, B-1I, C-I, D-II

Options :

42558928412. 1

42558928413.2

42558928414.3
42558928415. 4

Question Number : 15 Question Id : 4255897306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T - 136 Gt - 119 gaferd =2 :
T - 1 T - 11

(T ) ( srredt arggEn § yrifher @9 @ o)
A dE . 1950
B. Ul . 1967
C. fo=hi . 1992
D. et IV. 2003
= feu Tu fomredi § 4 W@ IT A -

(1) A-I, B-II, C-1V, D-1
(2) A-II B-I, C-1V, D-1
(3) A-LIV, B-1, C-I, D-III
(4) A-IV, B-1II, C-I, D-II

Options :

42558928412. 1

42558928413.2

42558928414.3
42558928415. 4



Question Number : 16 Question Id : 4255897307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one among the following is not a barrier to communication ?
(1) Organizational

(2) Personal

(3) Cultural

(4) Linguistic

Options :

42558928416. 1

42558928417.2

42558928418. 3
42558928419. 4

Question Number : 16 Question Id : 4255897307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafad & & = a1 "o § e T8 € 2
(1) HITeAHF
(2) cFfedes
(3) wiEHfTE
(4) ST (ST ST )
Options :

42558928416. 1
42558928417. 2
42558928418. 3
42558928419. 4

Question Number : 17 Question Id : 4255897308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a social networking site ?
(1) YouTube

(2) Facebook

(3) Twitter

(4) Khan academy

Options :

42558928420. 1

42558928421. 2

42558928422.3
42558928423. 4



Question Number : 17 Question Id : 4255897308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ffafiad § 4 %9 91 996 A2aiaT 95e T8 € ?

(1 T

(2) wEIH

(@) feI=

(4) @F 3TFEH
Options :

42558928420. 1
42558928421. 2
42558928422. 3
42558928423 4

Question Number : 18 Question Id : 4255897309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following according to evolution of music players in chronological order, from past to
present.

A.  Audio Cassette

B CD

C Radio

D. Gramophone
E DVD

Choose the correct answer from the options given below :
1y CABED

2y D,C A BE

31 ABEDC

(4) D EBCA

Options :

42558928424. 1

42558928425. 2

42558928426. 3
42558928427. 4



Question Number : 18 Question Id : 4255897309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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A, enfed R
B. HiEl

C. e
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E. S
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(1) CA,BED
(2 D,CABE
3 A BE,DC
4 D,EBCA
Options :

42558928424. 1
42558928425. 2
42558928426. 3
42558928427. 4

Question Number : 19 Question Id : 4255897310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Effective communication can be achieved by adopting the following strategies.
Improving the clarity of message to communicate

Selection of appropriate channel (technology) to communicate

Using proper environment to facilitate communication

Creating anxiety and fear to facilitate communication

Mo 0wp

Providing overloaded information to communicate
Choose the correct answer from the options given below :
(1) A C DOnly

(2) A, B, COnly

(3) B,C, DOnly

(4) C,D,EOnly

Options :

42558928428. 1

42558928429. 2

42558928430. 3
42558928431. 4



Question Number : 19 Question Id : 4255897310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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= feu o fowedi § 4 W@ SO A ¢
(1) e A C D
(2) %94 A, B,C
(3) @A B,C, D
(4) FFAC, D, E
Options :

42558928428. 1
42558928429. 2
42558928430. 3
42558928431. 4

Question Number : 20 Question Id : 4255897311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II :

List - 1 List - II
A Film fare I Newspaper
B Dainik jagran II. Book
C.  The God of Small Things [lI. Magazine
D Chacha Chaudhury IV. Comics

Choose the correct answer from the options given below :
(1) A-I B-1I, C-1II, D-IV

(2) A-I, B-1, CI, D-IV

(3) A-II, B-1I, C-1V, D-1

(4) A-IV, B-1, CI, D-1II

Options :

42558928432. 1

42558928433. 2

42558928434. 3
42558928435. 4



Question Number : 20 Question Id : 4255897311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - 11 Gt - 119 gferd 9
el - 1 e - 11

A, TRer TR . HHMER 9T
B. <fR SRy . T

C. T AF E 1. 9t

D. == IV. i
= feu T foehedi § € Wa 39 A ¢

(1) A-I, B-II, C-1I, D-IV
) A-III, B-I, C-I1, D-IV

(3) A-II, B-11, C-1V, D-1
) A-IV, B-I, CI D-1II

Options :

42558928432. 1

42558928433.2

42558928434. 3
42558928435. 4

Question Number : 21 Question Id : 4255897312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Determine the next term (?) in the following letter series.
BYD, EV], HISP, KPY, 2, ...

(1) NMB
(2) NMX
(3) MNB
(4) MBN

Options :

42558928436. 1
42558928437. 2
42558928438. 3
42558928439. 4

Question Number : 21 Question Id : 4255897312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Frefefad aul gaen § sea 95 ( 7) =1 fefa st
BYD, EV], HSF, KFV, 7.

(1) NMB
(2) NMX
(3) MNB
(4) MBN

Options :

42558928436. 1
42558928437. 2
42558928438. 3
42558928439. 4



Question Number : 22 Question Id : 4255897313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Two identical containers P and Q contain mixture of milk and water in the raio 1 : 1 and 3 : 1,
respectively. In what ratio should mixtures be taken out from P and Q so that milk to water ratio
becomes 5 : 4 7

(1) 5:2
(2 7:2
(B) 2:7
(4 2:5
Options :

42558928440. 1
42558928441. 2
42558928442. 3
42558928443. 4

Question Number : 22 Question Id : 4255897313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

< T S PSR Q H FHw: 1:1 3311 F U § g¥ iR o 1 fagw ww ¥ peiRQH | fFm
3t # fiysror fepren s foed g afR STe &1 3TWd 5: 4 B 9™ ?

1 5:2
2 7:2
(B) 2:7
(@) 2:5
Options :

42558928440. 1
42558928441. 2
42558928442.3
42558928443. 4



Question Number : 23 Question Id : 4255897314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following fractions in decreasing order of their values.

13
(1) =y
2) H
11
(3) Ty
7
(4) 5

Choose the correct answer from the options given below :
(1) C>D>B>A

(2 D>C>A>B

(3) D>A>B>C

4) D>C>B>A

Options :

42558928444. 1

42558928445.2

42558928446. 3
42558928447. 4

Question Number : 23 Question Id : 4255897314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fefafiad f9=1 =1 39 W % =2d %0 H SFafeed Hifa ;

13
(1) 8
9
@ 37
11
B 133
7
@ 3
e feu o faspedl § @ W S gA ¢

(1) C>D>B>A
(2) D>C>A>B
(3) D>A>B>C
4 D>C>B>A
Options :
42558928444, 1
42558928445.2
42558928446. 3
42558928447. 4



Question Number : 24 Question Id : 4255897315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the correct statements.
A.  The angle between the hour hand and the minute hand at 2:40 PM is 130°
B. If 2 = 1331, then x = 11

C. The area of a 1.0 m wide track around a rectangular sports field of dimensions 20 m x 18 m
is 80 m?

o s
D. g of 1000 | is equal to 5

Choose the correct answer from the options given below :
(1) A, Band C Only

(2) A.BC andD

(3) B,Cand D Only

(4) A, Cand D Only

Options :

42558928448. 1

42558928449. 2

42558928450. 3
42558928451. 4

Question Number : 24 Question Id : 4255897315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa § | 9t i = fafza =i

2:40 PM TR =i it g% 3R fie &1 g3 & " 0 130° B
e = 1331, @ x = 11

20T x 18 | Uftamy el foRat SRR el % HeM % TRl @R 1.0 oY =SS ufty # s 80 Hi2
%l

=

e

D. { 1000 =T %—oﬁ'} 5% T T

= feu o fowedi § 9 W@ S A -
(1) oea A, B #RC

(2) ad A, B,C 3RD

(3) %A B, C 3RD

(4) %A A, C #ID
Options :

42558928448. 1
42558928449. 2
42558928450. 3
42558928451. 4



Question Number : 25 Question Id : 4255897316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II ;
List - I List - 1I
A, Duration of 1 minute and 12 L. 19

seconds is what percent of E hour ?

B.  30% of apples out of 30 are bad. I 4
The number of good applesis

C.  The population of a country increases Im. 21
from 25 million to 30 million.
The percentage increase is

D. 1.14 expressed as percent of 6.0is IvV. 20

Choose the correct answer from the options given below :

(1) A-II, B-II, C-I, D-IV

(2) A-II, B-IIL C-1V, D-l

(3) A-I, B-1I, C-1, D-IV

(4) A-IV, B-1I, C-II, D-1

Options :

42558928452 1

42558928453. 2

42558928454. 3
42558928455 4

Question Number : 25 Question Id : 4255897316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tl - 11 G - 118 gAferd 1
e - 1 T - 11

A. 1T 3R 12 9E =i amafy L 98
%a%mmmm%

B. 30Wa H ¥30% Ud WA & | 3753 Tl & §&ATE I

C. et < =t sdEn 25 fafeaaa | I oL =1
fafem ot &1 fg wufowa &

D. 6.0 fora gfaee 1.14 &1 V. 20

= feu o fowedi # 9 wf WA -

(1) A-II, B, C-1, D-IV
) A-II, B-III, C-1V, D-I

(3) A-II, B-II, C-1, D-IV
) A-IV, B-II, C-1I, D-1

Options :

42558928452. 1

42558928453. 2

42558928454. 3
42558928455. 4



Question Number : 26 Question Id : 4255897317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is an analogous statement ?
(1) Godis great

(2) Man is like god

(3) Gandhiji is the father of the nation

(4) Man is mortal

Options :

42558928456. 1

42558928457. 2

42558928458. 3

42558928459. 4

Question Number : 26 Question Id : 4255897317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frefafes # 4 %9 @ 99 FA § ?
(1) ST HEME

(2) AT IR F GAA

(3)  Tivedrst wpfar ¥

(4) FIA TR T

Options :

42558928456. 1
42558928457. 2
42558928458. 3
42558928459. 4

Question Number : 27 Question Id : 4255897318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is converse of ‘Some R are F' 7
(1) Some F are not R

(2) Some R are not F

(3) NoFisR

(4) SomeF are R

Options :

42558928460. 1

42558928461. 2

42558928462. 3
42558928463. 4



Question Number : 27 Question Id : 4255897318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Fo R, FE o fawdg frafafes § 4 s w g2
(1) FSFRTEE

(2) FSRFTE

(3) FEHFERTET

(4) FSFRE

Options :

42558928460. 1
42558928461. 2
42558928462. 3
42558928463. 4

Question Number : 28 Question Id : 4255897319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In constructing a categorical syllogism arrange the following in order.
A.  Identify the minor premise

B. Identify the major premise

C. Determine the conclusion

D.  Check mood and figure

Choose the correct answer from the options given below :
(1) A BDC

(2) B, ADC

(3) DA BC

4 ACDB

Options :

42558928464. 1

42558928465. 2

42558928466. 3
42558928467. 4



Question Number : 28 Question Id : 4255897319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

forl faeaifues =araars =i @ § fefafaa = s9ee § sefem Fife

A, T STYREEE Y

B. T MUNERA FI TgaH

C. Tord =1 Fufon

D. 9@ 3R 3eHfd = gEare

5 feu o fowedl ®§ ¥ WE I A -

() A BDC
(20 B, ADC
(3) D,ABC
(4 A CD,B
Options :
42558928464. 1
42558928465. 2

42558928466. 3
42558928467. 4

Question Number : 29 Question Id : 4255897320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

There are four arguments A, B, C and D in the context of the statement given below. You have to
decide which of the argument(s) is/are strong ?

Statement : Should India go in for e-governance in all possible sectors ?
A.  Yes, It will bring accuracy and efficiency in the work.
B. No, e-governance requires a lot of money. We should not waste money on it

C. Yes, when developing countries are introducing computers in every field, how can India
afford to lag behind.

D. No, it will be an injustice to the monumental human resources which are at present utilized.
Choose the most appropriate answer from the options given below :

(1) A Only

(2) A and B Only

(3) A andC Only

(4) D Only

Options :

42558928468. 1

42558928469. 2

42558928470. 3
42558928471. 4



Question Number : 29 Question Id : 4255897320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A fed T wum & "o § =W gfEai A, B, C SR D &t W €1 v 7w gffved wn ® fF wm
gfea(aT) vae g/ ?
YA : 1 YA K Gt Hoqrfera & § S-TaEE #1 SRR F 1 =i ?

A. o gewr § uftgea sin Frgow e

B. 7@, $-TeAg W Fgd S ¥ 1 SEvaeRal gidl € | 6 39 W ¥F A el e Jfel |
C. @I, 5a faehraeiiel 39 Yeieh &l § ey o1 YURY T @ €, df YA hd 9 18 Tohal & |
D. &, g% sTcaferk WHe areHl e adw # S9Er R T, % Wy o g
e feu o foered ® ¥ WE I A ¢

(1) aa A

(2) A AIRB

(3) HEA A FRC

(4) A D

Options :

42558928468. 1
42558928469. 2
42558928470. 3
42558928471. 4

Question Number : 30 Question Id : 4255897321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II :
List - I List - 11
A.  Reasoning based upon resemblance Sesavat
to what has been observed in the past
B. Reasoning by the method of elimination I1. Puravat

= Reasoning with the support of what is IlI. Pratijna
found in the sphere of sensuous objects

D. Reasoning by keeping discussion within [V. Samanyatodrsta
limits and by drawing attention to the
point under discussion

Choose the correct answer from the options given below :

(1) A-L B-1Iv, C-I1, D-1II

(2) A-IIL B-LIL, C-1V, D-I

(3) A-I, B-l, C-IV, D-1II

(4) A-II, B-1V, C-II, D-I

Options :

42558928472. 1

42558928473. 2

42558928474. 3
42558928475. 4



Question Number : 30 Question Id : 4255897321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - 11 Gt - 119 gferd 9
I - 1 T - 11

A, TR, YR WS ST a(UfEe) € Sue W A
TSI el B |
B. faead fafy gro aekon . Ed

. S U el % & H OS] © S9eh! erdal § deRen [ WidEn
D. HmH H t&d gU Uil g @R SR uiE=idE ok ufa V. gmrdge
R
= fou Tu fowedi § ¥ 9@ I I ¢
(1) A-1, B-IV, CI, D-II
(2) A-I1, Bl C-IV, D
(3) A-11, B, C-IV, D-1II
(4) A-II, B-IV, C-II, D
Options :
42558928472. 1
42558928473. 2

42558928474.3
42558928475. 4

Question Number : 31 Question Id : 4255897322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The teaching which involves the teacher posing questions to students as they attempt a task, is
known as :

(1) Co-operative Teaching

(2) Peer tutoring

(3) Scaffolding

(4) Directed teaching

Options :

42558928476. 1

42558928477. 2

42558928478. 3
42558928479. 4

Question Number : 31 Question Id : 4255897322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
feranfefaii gro foreht &4 =R 03 % s ek 510 W99 U@ fopan ST ST S1eaTae sheerd €
(1) werl foem
(2) wHee fagor (dER 2g2fn)

(3) ThHIfeET
(4) fAcfym fomerm
Options :

42558928476. 1
42558928477. 2
42558928478. 3
42558928479. 4



Question Number : 32 Question Id : 4255897323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

is the ‘RIGHT" instructional technology for the understanding level of teaching.

(I) Branching
(2) Linear
(3) Programmed instruction

(4) Self instruction

Options :

42558928480. 1
42558928481. 2
42558928482. 3
42558928483. 4

Question Number : 32 Question Id : 4255897323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

foreror & srermed TR % forg TEl STRHTeTS ARt € ;
(1) w9mEd (sif=)

(2) &M

(3) HAHHES STIRY (TS TRZHM)

(4) @ e

Options :

42558928480. 1
42558928481. 2
42558928482. 3
42558928483. 4

Question Number : 33 Question Id : 4255897324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the components of Teaching process in order of occurrence, from initial to final.
A. Performance Assessment

B. Instructional Goal

C. Entering behaviour

D. Instructional procedure

Choose the correct answer from the options given below :
(1) ACD:B

2 CA DB

) BCD A

(4) B, CAD

Options :

42558928484. 1

42558928485. 2

42558928486. 3
42558928487. 4



Question Number : 33 Question Id : 4255897324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e gfchan o s2ahl &l 39 9fzd e o ST9RH (0 9 fan) T et Fife
A, TroaER e

B. Ticymens w@ea (TS @ied)

C. &Y =EER

D. el i

r e T Forredi # & W SR -
() ACD,B

(2 C A, DB

(3) B,CD,A

(4 B,C A, D

Options :

42558928484. 1

42558928485. 2

42558928486. 3
42558928487. 4

Question Number : 34 Question Id : 4255897325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Select the ‘RIGHT" combination of statements.

A.  Role of Teacher’s personality is very important - Idealism

B.  Role of Teacher’s personality is of limited importance - Pragmatism
C. Role of Teacher's personality is very important - Pragmatism

D. Role of Teacher’s personality is not of limited importance - Naturalism
Choose the correct answer from the options given below :

(I) A and B Only

(2) Band COnly

(3) Cand D Only

(4) A and C Only
Options :
42558928488. 1
425589284809. 2

42558928490. 3
42558928491. 4



Question Number : 34 Question Id : 4255897325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

mm‘aﬁ’g’ugﬁﬁ:

A.  JEAE % Al 1 YR Sgd Heeql el & - SAeverg

B. AN F Al F it Wi Tew =i e ¥ - waea
C. AN & SAfade i e 95 Heaqol el & - Jareams

D. A o =i # yfre Yo mecd =1 7 2l § - WHfaae

5 feu o fowedl ®§ ¥ WE I A -
(1) e A 3B

(2) Faa BARC

(3) %@ C #RD

(4) HFA A IRC
Options :

42558928488. 1
42558928489. 2
42558928490. 3
42558928491. 4

Question Number : 35 Question Id : 4255897326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II :
List - I List - IT
A.  An example of multisensory I MOOC
approach of learning

B. Four quadrants of learning I1. PSPP
= Academic Bank of Credit M. You Tube
D. An example of software IV. NEP-2020

package on statistical analysis
Choose the correct answer from the options given below :
(1) A-II, B-1V, C-1I, D-I
(2) A-IL B-I, C-IV, D-1II
(3) A-I, B-1, C-IV, D-II
(4) A-IV, B-L, CI, D-1II
Options :
42558928492. 1
42558928493. 2

42558928494. 3
42558928495. 4



Question Number : 35 Question Id : 4255897326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - 11 Gt - 119 gferd 9
el - 1 el - 11

A, AT o SgEesl SUNTH o ISE I. W&

B. W & IR Iq® I Weadd
C. SFRiH® Hee 9% . g2g4

D. Wi favery ol iveasy Tohs o 3| V. TAF O 2020
= feu o fasedi § 9 O W T

(1) A-II, B-1V, C-II, D-1

(2) A-I BIL C-IV, D-III
(3) A-I, B-I, G-IV, D-II
(4) A-IV, Bl CIIL, D-III

Options :

42558928492. 1
42558928493. 2
42558928494. 3
42558928495. 4

Question Number : 36 Question Id : 4255897327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A standard address format that constitutes a reference to an internet resource is :

(1) HITP
(2) ISP
(3) FIP
(4) URL

Options :

42558928496. 1
42558928497. 2
42558928498. 3
42558928499. 4

Question Number : 36 Question Id : 4255897327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T Sete danm & ded & wufed 39 9T AeE Ty e €

(1) wWAAG

(2 omwmd

@) TEAG

4) F¥RTA
Options :

42558928496. 1
42558928497.2
42558928498. 3
42558928499. 4



Question Number : 37 Question Id : 4255897328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

VPN stands for :

(1) Vast Public Networks
(2) Virtual Public Networks
(3) Vast Private Networks
(4) Virtual Private Networks
Options :

42558928500. 1

42558928501. 2

42558928502. 3
42558928503. 4

Question Number : 37 Question Id : 4255897328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

dt 9t T (VPN) & 90 ®9 T :

(1) dme dfeersh Aeaad

(2) YA dlscTh A2

(3) AN YrEae HeEe

(4) TIA e AeaHH
Options :

42558928500. 1
42558928501. 2
42558928502. 3
42558928503. 4

Question Number : 38 Question Id : 4255897329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the "WRONG' statement.

A. 'JPEG’ stands for Joint Photographic Exchange General
B. ‘FTP’ stands for File Transfer Protocol

C. 'GUI stands for General User Interface

D. FAT stands for File Allocation Table

Choose the correct answer from the options given below :
(I) A and B Only

(2) AandC Only

(3) Band C Only

(4) Coand D Only
Options :

42558928504. 1
42558928505. 2
42558928506. 3
42558928507. 4



Question Number : 38 Question Id : 4255897329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
“Tera " e g

A, 'S E S @ qUiEy SaEe RRIRE THEES SR ©
B. ‘TH W F QU ET EEA TR AR T

C. ‘St g 8’ = Yo ¥ IR 5 3S0HH ©

D. ‘THTFH F YU FY FEA TIHYH 28 ©

= feu Tu fowedi § 9 U@ A -

(1) ©hea A 3B

(2) e A IRC

(3) 9@ B 3RC

(4) FFA C3RD

Options :

42558928504. 1
42558928505. 2
42558928506. 3
42558928507. 4

Question Number : 39 Question Id : 4255897330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Choose the ‘WRONG' statement.

A.  ’Bit’ is a unit of storage

B. ‘Micron’ is a unit of weight

C. ‘F-13 is a functional key on computer keyboard

D. Pixel is related to resolution of camera

Choose the correct answer from the options given below :
(I) A and B Only

(2) Band COnly

(3) Cand D Only

(4) Band D Only
Options :

42558928508. 1
42558928509. 2
42558928510. 3
42558928511. 4



Question Number : 39 Question Id : 4255897330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

RIGGREE I Ee i

A. ‘T’ ofEru # TEE ¥

B. ‘TEHM’ YR %I THEE ©

C. 'UFE-13’ FIYR H W W YFEHF 527 ©
D. frga % ¥ foegem @ gaftm &

= feu Tu fowedi § 9 U@ A -
(1) ©hea A 3B

(2) Faa B3RC

(3) %@ C #RD

(4) A B FRD

Options :

42558928508. 1
42558928509. 2
42558928510. 3
42558928511. 4

Question Number : 40 Question Id : 4255897331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II ;

List - I List - II
(Item) (Category)
A. Yahoo L Web-browser
B. Firefox Il. Al based paraphrasing tool
C. Solitaire I[II. Search engine
D. Quillbot IV. Game

Choose the correct answer from the options given below :
(1) A-II, B-III, C-1V, D-I

(2) A-II, B-I, G-IV, D-II

(3) A-II, B-IV, C-I, D-II

(4) A-IV, B-1I, C-II, D-I

Options :

42558928512. 1

42558928513.2

42558928514. 3
42558928515. 4



Question Number : 40 Question Id : 4255897331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - 11 Gt - 119 gferd 9
I - 1 T - 11

("g) ( =roft )
A, TE | - - | X
B. TRRR RN . TR e Gukfs 2a
C. wfaes . =9 g5
D. feeEe V. W
= feu o fomwedl § | | WA -

(1) A-II, B-II, C-1V, D-1
(2) A-II, B-1, C-1V, D-II
(3) A-III, B-1V, C-1, D-II
4) A-IV, B-1II, C-II, D-1

Options :

42558928512. 1

42558928513.2

42558928514. 3
42558928515. 4

Question Number : 41 Question Id : 4255897332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is Eutrophication ?

(1) Low pH of water due to toxic material

(2) Enhanced plant growth and subsequent oxygen depletion of water
(3) Temperature above the normal range due to organic matter pollution
(4) Increase in toxicity of water due to chemicals

Options :

42558928516. 1

42558928517. 2

42558928518. 3
42558928519. 4

Question Number : 41 Question Id : 4255897332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T (FRFFH) FTE ?

(1) =g vard o 90 5 1 9 () 91 @

(2) afHd uRYgls SN qeqvETT S H STEESH F ST
(3) e G814 YGHYI % HIO W HH § T ATHA
(4) TEEA % FHRO FA i auETd § giE

Options :

42558928516. 1
42558928517.2
42558928518. 3
42558928519. 4



Question Number : 42 Question Id : 4255897333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Among these, which is the outermost layer of atmosphere ?
(1) Stratosphere

(2) Mesosphere

(3) Troposphere

(4) Thermosphere

Options :

42558928520. 1

42558928521. 2

42558928522. 3
42558928523. 4

Question Number : 42 Question Id : 4255897333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfafas § 4 argrea =t 9o aed W B W@ T 2
(1) HHaTIHSd

(2) WHAASH

(3) anvHEd

(4) dMOHEA
Options :

42558928520. 1
42558928521. 2
42558928522.3
42558928523. 4

Question Number : 43 Question Id : 4255897334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange Millennium Development Goals in increasing order according to their goal number.
A Reduce child mortality

B Ensure environmental sustainability

C. Promote gender equality and empower women

D Improve maternal health

E Achieve universal primary education

Choose the correct answer from the options given below :
1) EBDAC

2y ECADB

3) A,B.CD,E

4) B,C,DEA

Options :

42558928524. 1

42558928525. 2

42558928526. 3
42558928527. 4



Question Number : 43 Question Id : 4255897334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafeaa weenfa (fcifm) fasm @i #1 39T @ Jen & TR ded %1 § sgafed Fifau

A, 9 g e

B. THIEUE WHRUEA gAY FE
C. iR Gl 3R Hieen GemEdior s eare
D. W @es § guR

E. Wi mafaes foan gra
= feu U foredi ® 4 e S A ¢
(1) EBDAC

B EBECADB

(3) A,B,CDE

(4) B,CDEA

Options :

42558928524. 1
42558928525. 2
42558928526. 3
42558928527. 4

Question Number : 44 Question Id : 4255897335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Major philosophical approaches to environmental ethics are :
A.  Anthropocentrism

B.  Egocentrism

C. Biocentrism

D. Ecocentrism

Choose the correct answer from the options given below :
(1) A, Band D Only

(2) A B, CandD

(3) A, Cand D Only

(4) A, Band C Only

Options :

42558928528. 1
42558928529. 2
42558928530. 3
42558928531. 4



Question Number : 44 Question Id : 4255897335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et Afqed & W gwifre 3urm €
A, TR

B.  STEeh(gHdl

C. @ Hfgaa

D. wiferfaT s

= feu Tu fowedi § 9 U@ A -
(1) @ A, B 3R D

(2) A B C3RD

(3) %A A, C#RD

(4) HIA A, B IR C

Options :

42558928528. 1
42558928529. 2
42558928530. 3
42558928531. 4

Question Number : 45 Question Id : 4255897336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - II :

List - I List - II
A.  Salim Ali L Agriculture scientist
B.  Charles Darwin [I.  Ornithology
C. M.S. Swaminathan [II.  Chipko movement
D. Sunderlal Bahuguna IV. Origin of species

Choose the correct answer from the options given below :
(1) A-IL B-IV, C-1, D-1II

(2) A-IL B-l, C-lII, D-IV

(3) A-II, B-II, C-1V, D-1

(4) A-IV, B, C-1, D-1II

Options :

42558928532. 1

42558928533. 2

42558928534. 3
42558928535. 4



Question Number : 45 Question Id : 4255897336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - 11 Gt - 119 gferd 9
I - 1 T - 11

A, TEm L w9

B. =ed eifeq . 9eh fagm

C. TUH. TH @A L. faue sHeeA

D. Yatere sgon Iv. offfss s s
= feu T foredi § 9 U@ S A -

(1) A-II BIV, C-I, D-1II
)} A-LL B C-lII, DIV
(3) A BII C-IV, DI
) A-IV, B, C-I, D-IIl

Options :

42558928532. 1

42558928533.2

42558928534. 3

42558928535. 4

Sub-Section Number : 3
Sub-Section Id : 425589295
Question Shuffling Allowed : No



Question Id : 4255897337 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Read the following passage and answer the questions :

Every now and then some retired civil servants come out with his memoirs, painting a glorious
picture of the heights of administrative efficiency reached during his reign. There is often the
suggestion that had there not been so much political interference, things would have been even
more fantastic. It is not unusual for the self-styled hero to blame not only interfering politicians but
also fellow civil servants who were idiots or crooks, for his failures. This attitude of smug satisfaction
is, u_nfm'tunately developed during the years of service. Self preservation rather than service is
encouraged by our whole system of rules and procedures.

The remedy has to be drastic and quickly effective. The over-protection now granted to civil
servants must end. Today to remove an erring civil servant is just not possible. And the only thing
that the highest authority in the Government, both in the state and at the centre, can do is to
transfer an official from one job to another.

The rules for taking discip]_inary action are so complicated that, in the end, the defaulting
civil servant gets away, and gets his full emoluments even for the period of the disciplinary
proceedings, thus making it a paid holiday for him.

The result is that the administration has become rule-oriented and not result oriented. Acton
is possible against the official who takes some interest in his work, but no action is ever taken
against a person who does not deliver the goods. If the country is to adopt a result oriented
approach, it is necessary to link job performance with job retention.

Sub questions

Question Number : 46 Question Id : 4255897338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The existing system of administration seems to encourage civil servants.

(I) to become self-styled heroes and dictate others

(2) to project their performance which is actually superficial

(3) to become self-centered and remain concerned about their personal gains
(4) to fight back the corrupt politicians

Options :

42558928536. 1

42558928537. 2

42558928538. 3
42558928539. 4

Question Number : 47 Question Id : 4255897339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What needs to be stopped by the government to correct the attitude of the civil servants ?
(1) Over-protection

(2) Use of public transport for personal use

(3) Grant of different types of additional leaves

(4) Medical facilities

Options :

42558928540. 1

42558928541. 2

42558928542. 3
42558928543. 4

Question Number : 48 Question Id : 4255897340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



To adopt a result-oriented approach, Government must link :
(1) job performance with job satisfaction

(2) job performance with out of the way promotion

(3) job performance with job retention

(4) job performance with job appraisal

Options :

42558928544 1

42558928545.2

42558928546. 3
42558928547. 4

Question Number : 49 Question Id : 4255897341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The expression “deliver the goods’ stands for :

(1) Show good performance

(2) Accept illegal favors

(3) To facilitate the concerned to drop the article(s) at the right place
(4) To please one’s superiors.

Options :

42558928548. 1

42558928549. 2

42558928550. 3
42558928551. 4

Question Number : 50 Question Id : 4255897342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘A paid holiday” as referred to by the author supports his argument that :

(1) Despite disciplinary proceedings against him, the erring officer gets full emoluments
(2) To honor the effective officer, additional emoluments are given to the officer

(3) Money given to the officers for celebrating their vacations

(4) Money given in advance

Options :

42558928552. 1

42558928553. 2

42558928554. 3
42558928555. 4



Question Id : 4255897337 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Freafefaa ey &t eamgdes ufen 3t wow Wen & s difem)
TR (FEH) F9 Yaifg Tafae Gask s1oa1 T, 99 YA 1A & SRF TORHE geT
T Himiell o Ieeid Y0 g WS U © | STROY 3 SEl H e <uiar s § T afg s eifues
TSI BEAAYT 7 B dl =S SR Wt SR 2l | WAMEE TEE kY 7 hee sEay we
Srifertl &g Feerdl fafee Heehi v ot o7ot ot 2 Tere 39er 7@ 21 950 21 il SiSd el Sl
€1 50 e 1 Hfiet e Gt guiaem Seht Gan o ol € faentad gf | den i awm atred afer i
AR Fwe frameaet sit o derer faferi | Gae faerd €1 39 g wSR 3 ga 99 291 ¥ | o1e
fafere Taeki =1 feu T sifa-—geeon =1 sifHama: ofa e =feq | &1 o |Hd | Tod) & a1 T6E fafae
Yook %1 Ugegd HIA G 7L © | 3 T HLRN 37 FHsrd QLR Sl & v yiferepdt fafast Jeei
ael Tk FE W GEU FEAYN SR 3R] TFI B L HEd © | SAIMEAHE FEAR F GeHl
femraet st wifew € % ofa & goheral fafaet Yo Tmar ¥ 9 91 € 3R STt Fefare &
safer #1 off qof uRefer = derefl 1 S € o1 30 YR 4 9 oafy 30 fou gaeq s fags 2
€l

Th U 7 € foF gemen ofomseTE 2R w6 aera frem-aifingm @ e # 1 s wE F faes
FHTHATE FyE § S 3199w § erfiels o § T U8 ot & fawg e off S e W@ gt € S
I 1 TE B €1 Afe T B aRomE=TE Sunm st ® o - faearen o AR § wfaemor |
Hag T SE9TF © |

Sub questions

Question Number : 46 Question Id : 4255897338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T o e € o foremm wemes yonelt ¥ fafae Saei = drearfea foan s €
(1) &AM 9= 7% 97 SR 3721 Al |/ 9= =6 & g

(2) 19 WEEE I waud 0 % foe S aga: gad o €

(3)  SATHHRI=T SR heel 379 dF ik oY a9 Hifig 84 % fog

(4) 9 USHIfaE | @eq % fag

Options :

42558928536. 1
42558928537. 2
42558928538. 3
42558928539. 4

Question Number : 47 Question Id : 4255897339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafae ekl ot sifigfa S # & foau aear =1 frafafea § § 58 T 90 sravasa €72
(1) HAfq-HTam

(2) Safaes ITEr F fou geen aed &1 9

(3) fafs= v 1 erfafiaa gfeai <

(4) Tafre giawmg

Options :

42558928540. 1
42558928541.2
42558928542. 3
42558928543. 4



Question Number : 48 Question Id : 4255897340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ROTHIRTET SUMTH ST % foIg TR = e 3% Has % =i

(1) =T 9<eE 1 %14 HqE 9

(2) = froures =i At 9 29 g o weea o
(3) = oA R AR | gfaEme §

(4) = ToareA = FE qedind |

Options :

42558928544. 1
42558928545. 2
42558928546. 3
42558928547. 4

Question Number : 49 Question Id : 4255897341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“zam #1d wige w1 aAfusataa = aeed s 0
1) 399 YevH uied
(2) fafy-farg (TR-—=FrH) a9 @iFEr F

) WE T W aEgedi # gyett & fou wefm safed a1 gfaen gem w5
(4) =IO ARG =Rl 9= TE

Options :

42558928548. 1
42558928549. 2
42558928550. 3
42558928551. 4

Question Number : 50 Question Id : 4255897342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

oNEE B Hela Tea ST’ ¥ 39 29 dok i gned B € o

1) =19 fa%sg SATIEAHSE FAarE & dess Tad Hi arel SAERT gl aftefeEr e g §
(2) et sfesRRT % e H 39 sifaftea uftefer < o §

) e gfear wAm % o stferemfeEr =i fear e om

(4) oA AW fem s

Options :

42558928552. 1
42558928553. 2
42558928554. 3
42558928555. 4

Hindi
Section Id : 425589104
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 425589296
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 4255897343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

@l diclt & FaferRad TaAmsil & Tra= § BiH-U U &y d g ?

1. 3fcba &b Yy H T bfd o w¢ e G bl difd”  AHID Ueb bl Yideh Wl dicil 1 ferdl o0t
2. Yad 1798 ¥ IHyETE FRSFT  HIEI AR iRy Amd U gel didl | o,

3. sl didl | felad ygd Heldbi eieliy &od TR ua/r @,

4, doqgard TR UHHTR Eol didl & SRS 13l H Ui &.

Options :

42558928556. 1
42558928557.2
42558928558. 3
42558928559. 4

Question Number : 51 Question Id : 4255897343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

W3l Sicl @l FyfeRad TRl & WE= T HH-T7 Uh &Y 3R ¢ ?

1. 3HpaR & g U T Hid H ¢ ¢ RAT DI Difc” A U DI Jkich Wal dicil T ferdi A0
2. Yad 1798 ¥ IHyre FRSF A HEI AR ARy w3 "ol dicl | forar,

3. sl didl ¥ feled ygdr Heidbi gikeiiy od T uarr ¢

4, deqdd feRfed UHER ol dicll &l SR 131 H uRifoid .

Options :

42558928556. 1
42558928557. 2
42558928558. 3
42558928559. 4

Question Number : 52 Question Id : 4255897344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

-1 2ar3l & goIRI dhiddl bl dhdel dhicihd I 1 SWad g Hied ifgd & Sidgi & 2R
T Dl dcb Gerdl Ugdl Hdbd| &7 YR T-IbTd &l dbad e, 79, Ud, 3tR gl Gus! H 3@ Hgh
qie ¢1-gg Yt A AT 1o by TS b IR o1 31Tl &, a1 e, il I<i-4Ug I Si g 15! &1 Tehell.”
Iujad didkai fedl aifec & iy gfagr dad ol g ?

1. S g

2. YHEEYdddel

3. daHie
4. BoIRuYEg fgddl
Options :

42558928560. 1
42558928561. 2
42558928562. 3
42558928563. 4



Question Number : 52 Question Id : 4255897344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T -fie 2ar3il & goIRI dhiddl bl dhdel dichd I 1 Iwiad g Hied ifgd & sidgi & srer-
T Dl deb Yerdl Ugdl Hebdll A7 YR To-IbTd &l bdd fe, 7, Ud, 3R gaiie @usl H 3ffg g
qie &-g8 Yt A AT o bt TS &b IR o1 3Tl 8, a1 =11, il I<i-SUg I Sicgrd 1! &1 Tehell.”
aqg[aauﬁlm%am%aﬁ?ﬁmgﬁgmawﬂ%?

IS

2. W?laaagaa"l
3. TR

4 golNivarg fgadt

Options :

42558928560. 1
42558928561. 2
42558928562. 3
42558928563. 4

Question Number : 53 Question Id : 4255897345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sl T 1 3R 31l g O 31 Bid
3l e forg bl A 18l e

Options :

42558928564. 1
42558928565. 2
42558928566. 3
42558928567. 4

Question Number : 53 Question Id : 4255897345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ul T H 3R 3K g U1 ol Bfa
sl e fore o1 U 7el Fpfa

Options :

42558928564. 1
42558928565. 2
42558928566. 3
42558928567. 4



Question Number : 54 Question Id : 4255897346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fgiaRad H ¥ - ubie!eHT Arud e by O Wi T8l g ?

1. YauH

2. UD AP R WEd

3. 4o g

4. JUUHRD
Options :

42558928568. 1
42558928569. 2
42558928570. 3
42558928571. 4

Question Number : 54 Question Id : 4255897346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fgfaRad d O - ubieR=A1 Ard ube iy O SEREd [8l g ?

1. Ya=H

2. Udh b R

3. ud gl

4.  JdWUBRSD
Options :

42558928568. 1
42558928569. 2
42558928570. 3
42558928571. 4

Question Number : 55 Question Id : 4255897347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRad # ¥ iy ufie! & e IedRM™T dieR] Ure = fdbar T

1 IR

2. Yo3H

3. ogH

4. 3Hg PIeFEHAl

Options :

42558928572. 1
42558928573. 2
42558928574. 3
42558928575. 4

Question Number : 55 Question Id : 4255897347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FrafaRad o T iy ufics! &1 TG IEI-R™T dleR] Use - fdbdr T

1 Il
3. SNy
4. 3G PIeiEHAl

Options :

42558928572. 1
42558928573. 2
42558928574. 3
42558928575. 4



Question Number : 56 Question Id : 4255897348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1. 3¢URIch Hg (R pHaT & Gra=H bl=4-91 d2 gl gl ¢ ?
1. ‘DHAr HE Sl Bl UM UHIRId BIAPd Bl
2. Ug U qHISh Aled gl
3. gy [bdUH 3iicle &l dauH gl gl
4. YU g AGEHSRY &I A E Bl
Options :
42558928576. 1
42558928577. 2
42558928578. 3
42558928579. 4

Question Number : 56 Question Id : 4255897348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1. 3T Hg R DT & Qi | bl4-T71 d2 gl gl ¢ 2
1. ‘pydr g Sl &l UuY USRI dIaPid gl
2. Ug U YHISIh Aed ol
3. U fhUH siiciaH &1 9uiF fdhar T gl
4. SUH gHISS A &I HIfHS FE B
Options :
42558928576. 1
42558928577. 2
42558928578. 3
42558928579. 4

Question Number : 57 Question Id : 4255897349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

~3{fF1 gallgd, HeHR, Td, i IR,

fmd, AR, Fich b IR, Sifg feiciad s IR 1”
SWjad alel T i T Tebferd g ?

1. foRRl waug

2. 3fieyu

3. WUy

4. I PpltR
Options :

42558928580. 1
42558928581. 2
42558928582. 3
42558928583. 4



Question Number : 57 Question Id : 4255897349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
“ 3 galgd, HaHR, Td,-H IR,
frd, 7R, Yieh b IR, Sifg e g IR I”
SW]dd <lel fbd did T debferd g ?

1. T waas

2. ofirgdo

3. WUy

4. bl bR
Options :

42558928580. 1
42558928581. 2
42558928582. 3
42558928583. 4

Question Number : 58 Question Id : 4255897350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AR ROl g1 & Terf 1 Srar] s Y 1 ST el 8 2

1. A 1950 H chg IcTel SHAT b IENT Y IR ART U=riRoft 1 &t =g g,

2. U YUl &l YR wyfg 3R i J1g g Sit b AT 3R Ycld URYH &l hd o,

3. 28D UyY G HRAG & Hhe UIS d1d AU HWIEH gU.

4. PRI YRR afihT @t URMS YeArs &l gfe gl Fdbid &R ¢d dl 35 3 faud! & ol
o ffaRad el il dfaand T8t e,

Options :

42558928584. 1
42558928585. 2
42558928586. 3
42558928587. 4

Question Number : 58 Question Id : 4255897350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT TR T & T o SR s Y &I 3Td gl § 2

Hdd 1950 H thg IcdTel DHT b INT I DI AFRT U=Rofl g1 &l =9 g2,

Y qHI 31 IR ggfs 2R Difd 91 amyg-eR Sil b AT 3R Yeld uReH &1 %hd g,
ﬁ%ﬂﬂﬂﬂl@ﬁﬂﬂﬁ@%@ﬁﬁuﬁaﬁﬂww@

AR Ul uiBieT &l R Warel ol afe gl Hidbid o ¢d dl 3uH 3 fawdl & ddl
& ffaiad del i dfaand T8 el

Options :

42558928584. 1
42558928585. 2
42558928586. 3
42558928587. 4

et b



Question Number : 59 Question Id : 4255897351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

RO fohT BT 3GIeR0I ol o?
1. Hid=d $l g gl
2. TGS o0 QA &1 S{=UD o Ugdld ¢ |
3. IYUHIN ¢Hd Bl d= 3 W < Usd gl
4. S - HUS Rca|

Options :
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Question Number : 84 Question Id : 4255897376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

0] HTehR gRT el “SMART IR & Ao T H T U U /A © ?
1. 9g IRddg desil ol sliel gl

2. S{ARI TGl & W YRl Bl UbTIH 1974 T g3 AT

3. AU ISR &l TaRT Tfigl & o T 14 au @i d|

4. udi &l ¥ - N P Aot - TERRE Tewid, 8l

Options :

42%58928688. 1

42558928689. 2

42558928690. 3

42558928691. 4

Question Number : 84 Question Id : 4255897376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

] gHTehR gRT A “3MaRT Wlgr & AeH § &1 1 U U 2 g ?
1. 98 IRdds desil ol Slial g1

2. ORI HHIEl & U TXHI01 bl UbTH 1974 T g1 Y|

3. AUy &l HaRT Bfigl & oad O 14 qi ol A|

4. udl &l ¥ — a0 Bl il - TRRMBRI- Te2id, g1

Options :

421)558928688. 1

42558928689. 2

42558928690. 3

42558928691. 4



Question Number : 85 Question Id : 4255897377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR g TeAb Bl YEad Tl & darR =@’ & de W S A1 U aa 3yd ¢ ?
1. 34! Y Sldlerdld He% - fordl gl

2. IO 39Ul & 2 RO Y& id IRGAT Bl

3. Y&ic ol 9qUuT ST I[6ig e & A g

4, Ugdl YBR[ 1956 H UBIRK g2

Options :

42558928692. 1
42558928693. 2
42558928694. 3
42558928695. 4

Question Number : 85 Question Id : 4255897377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR g feAhY B g HIhid & IR AL’ & e T & I U T A G ?
1. 34! Yl Sidlerdld Hee - fordl gl

2. TN 3 & I YR WHid SIRAT gl

3. Udd I gHYU ST el UG &b AW g

4, Ugdl IIHIUT 1956 H UBIR g1l

Options :

42558928692. 1
42558928693. 2
42558928694. 3
42558928695. 4

Question Number : 86 Question Id : 4255897378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

43 TRDR] UG BT HH & UIH DI HY J14] SR T SIIdT 8. o o STl ¢, 9l 9R Teb gl &1d &l
1Y SHTg a1 uSdl 6, dd Ul sidl o. [l UM fddl 8, 3+l 6 WIFRI & Sl 6.7 - “HIdRM
BIoNa’ ¥ Ig aIdiaTd ol =Rl o Al G & 2

1. HIdRM B9 3R TRER
2. ARg 3R JurE

3. ARG AR Yed

4. MIdRM &1 el 3R Tigd
Options :

42558928696. 1
42558928697. 2
42558928698. 3
42558928699. 4



Question Number : 86 Question Id : 4255897378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U3, IRBRT T HT HMAT 6. UIH DI H il R H ST g, ¢ & STl 6. d19! IR Teb gl did &l
Y TS foRgAT USdl &, od Udd! gidl &, ok UM fddt 8, Sl 81 TR & oIl 8. - “HIdRH
HISId’ HYg dIdian i IRl AL g3 ¢ ?

1. HIdRM HI51d AR IRER
2. ARE 3R W

3. AR 3R Yed

4. HIARM P UG 3R Tgd
Options :

42558928696. 1
42558928697. 2
42558928698. 3
42558928699. 4

Question Number : 87 Question Id : 4255897379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

344 iR Y W 1 Uch I WU Fidh gl o-hdd i I8l g [Helsidl & U1y YR AT dlg -1g! 8l
©.”, Bl T bl U & Jraa 1 g femuf] fbuas! 8.

1,
2. dAHXR g

3. [dcmcd AR™UrgTEl
4. Mg Yad

Options :

42558928700. 1
42558928701. 2
42558928702. 3
42558928703. 4

Question Number : 87 Question Id : 4255897379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

34H iR Y U &1 Udb @11 ¥0%Y i 381 g-bdd Fidb X5l ¢ Fcosidl & II GbR AT HRIE L1 281
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THR [¥g
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Options :

42558928700. 1
42558928701. 2
42558928702. 3
42558928703. 4



Question Number : 88 Question Id : 4255897380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘RigpTdad T[T Bl &l UH 8l 67

1. =R

2. G&g 9l
3. =gl

4. <ot
Options :

42558928704. 1
42558928705. 2
42558928706. 3
42558928707. 4

Question Number : 88 Question Id : 4255897380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Rdb1d6d T™T  Herl &I UH el 67

1. =

2. al¥q "l
3. =l

4. <o fma
Options :

42558928704. 1
42558928705. 2
42558928706. 3
42558928707. 4

Question Number : 89 Question Id : 4255897381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

STy SF-Ules S-S, WIS-910 ], RGN H g5 ! I IR Sl T8 dld &l Dbl by ¢ 6.
W$WW’ P Ug HUT [PT U BI g ?

1.

2. SHI Pl d1Y

3. gddGR WARE
4, [SE2
Options :
42558928708. 1
42558928709. 2

42558928710. 3
42558928711. 4



Question Number : 89 Question Id : 4255897381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“forrds SFI-Ules YR-digH, HS-a1U gl RGN H §5db @ Al R S 18- dld &l Bl hd ¢ 6.
®ell ‘BRI Bl gcdR’ Pl Ug HY [y UH dl & ?

L
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3. gddceR WAk
R

—

E

Options :

42558928708. 1
42558928709. 2
42558928710. 3
42558928711. 4

Question Number : 90 Question Id : 4255897382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ueh (R ¢l Sl dl ‘UG bl dfcebT bl T el a1 Hfckd bl I g icdld 3 gida, ¥3fa o
g@wﬁa%gﬁaﬁsﬁaﬂﬁaﬁ%aﬁ?Hﬁiﬁﬁﬁﬁﬂ%ﬂzﬁaﬁﬁ%ﬁ—%wﬁmmﬁ
CAR

L TR

3,

3. cdiRiaR ER

4. AHR g

Options :

42558928712. 1

42558928713.2

42558928714. 3
42558928715. 4

Question Number : 90 Question Id : 4255897382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Uh R ¢l S dl ‘TR’ P dfciebT bl THwT Iac-¢Idl a1 Gicd o1 o g1 icdid I giad, Wfa 9
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67|

L TR

3,

3. GdRiaR ERl

4. AHR g

Options :

42558928712. 1

42558928713. 2

42558928714.3
42558928715. 4



Question Number : 91 Question Id : 4255897383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘3R ARY e &b 3 b WU ST g HH AT g ?
doIR
SiTd
I
3RUY
oTel Ul
:ﬁ%‘rﬁqﬂqﬁaﬁd’rﬁ@aﬁaﬂ?gﬁ
B,C,E,A D
2. B,A C,D,E
3 EBAD.E
4  EABCD
Options :
42558928716. 1
42558928717. 2
42558928718. 3
42558928719. 4
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Question Number : 91 Question Id : 4255897383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘3[R FRI" A1eh &b 3eh| b RIH HIUgl HH AN ¢ ?

A dRIR

B. Sl

C M

D. smrcr

E.

:ﬂ%ﬁqwﬁmﬁﬁaﬁwiﬁ
B,C,E,A D

2. B,A CDE
3 E,B,A D, C
4, E.A B CD
Options :
42558928716. 1
42558928717. 2
42558928718. 3
42558928719. 4



Question Number : 92 Question Id : 4255897384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A Telgard g qur didbeiia
B. Hdol UiRaie ggyfa

c.  ydFrmaiE

D.  Hclgdl ol Tl Ssiiad

E. 3o T oy

i feu T fadb ol F 9 Wt 3R g
1. ABCD,E

2. B,C,AD,E

3. B,D,EAC

4. AD,CBE

Options :

42558928720. 1
42558928721.2
42558928722.3
42558928723. 4

Question Number : 92 Question Id : 4255897384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fﬂ?f%’m ATHBYT Bl JAURT 1 Tt Jueiert & fauifor fopar & 571 Suzier! o 9t b I © 2
T & Mg ql el

Yt
e adr ¥l SiiaA
3fprd H Aafayrg
i feu T fadb el 7§ Wt 3R I
1. A,B,C,D,E
2. BCADE
3. B,D,EAC
4 AD,CBE
Options :
42558928720. 1
42558928721.2
42558928722. 3
42558928723. 4



Question Number : 93 Question Id : 4255897385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks :

0

T paT Bl U 3gyd 34 Uldad! &l Ugd I di¢ & ohH 1 iR SIS -

A ddl VO, ST Sl T-u s st agd

B g v &) Rl ﬂésﬁ?aﬁméimﬂﬁuﬁiam%

C gﬁnﬁmﬁ.wﬁwﬁ%gm%,ww%ﬁammwm@wmﬁam

SRS 1 [

D. 3R Y dR SHMHI YaR. 3{I¥d & A1 Ul &I Hel! 5id I 1MIS] Hg-He Hed 6l ©.
E. o3 glcH SUdl 9N Y S0 R | dleR?

id feu T faseut 7§ O Hel R I

1. ABD,EC

2. ABCD,E

3. B,DEAC

4 AD,B,CE
Options :

42558928724. 1
42558928725. 2
42558928726. 3
42558928727. 4

Question Number : 93 Question Id : 4255897385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks :

0

T dO Bl U Igyd 34 Ufdadl &l ugd I di¢ & ohH | AR SIS -

A dl YO, ST Sl SIS St agd T,

B 5 R &) TRAld A, 7 3R 3iRd & A4 H B Qa1 g

& gﬁnﬁ%mﬂmasﬂﬁwﬁﬁ@@ﬂawwmmwm@wmﬁaﬁ
JKle,

D. 3R 3Y dR SHHI YaR. 3{IXd & A1 Ul &l Hel! Sid I MIS! Hg-He Hod ol ©.

E. S glcH Sudr 0yn &y $Uan R Sl drex?

i feu T fadb ol 7 § W@t 3R I

1. ABD,EC

2. ABC,D,E

3. B,DEAC

4 AD,B,CE

Options :

42558928724. 1
42558928725. 2
42558928726. 3
42558928727. 4



Question Number : 94 Question Id : 4255897386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e I GRIRFId Riaemy & frg | Sicatad Fafafad Righ eradi su ang 2

A STM IS ol
B. oV fd=dcq

C.  dIRMY Bl Had

D. WRIAC 3gHS I Wd

E. dls Wl &l WrTd

A feu T fabeul o 9 [t 3<R g+

1. B,A C,D,E
2. A,C,BED
3. C,B,EEAD
4. A D CBE
Options :
42558928728. 1
42558928729. 2
42558928730. 3
42558928731. 4

Question Number : 94 Question Id : 4255897386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

dTeHp-< I gRIRFId Riazmy & fag § Sicafad FafaRad figl o1yl oH ar g ?

A. d-[H c1|5 d?UH

B. o fdwdg

C. IR Pl Ha

D. WRIAT 3AgHS I Wd

. dIS W &l WrTd

il feu U fadbedl § 9 ot 3R -

1. B,ACDE
2. A CBED
3. C,B, EAD
4. A,D,C,BE
Options :
42558928728. 1
42558928729. 2
42558928730. 3
42558928731. 4



Question Number : 95 Question Id : 4255897387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

WWW@&W&%WWﬁwéiﬂﬁma@aaﬁ:

A
B. SHald

C. CIdEH @l aad

D. ®dbR &l Gfdd

E. faoy

i feu U fadb el O 9§ W@ 3<R g

1 E,AC B, D
2. A, C B,ED
3. B,C.E,D,A
4. B,AC,D,E
Options :
42558928732. 1
42558928733. 2
42558928734. 3
42558928735. 4

Question Number : 95 Question Id : 4255897387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3 & Fafafad eeifdl &l 3d SR ay & IR Ugd U di¢ & HH H cadiyd &3 ;

E.ACBD

A.
B.
€
D.
E.
il feu v fab el Ff 9§ et 3R g
1.
2.
3.

4, B,ACDE
Options :
42558928732. 1
42558928733. 2
42558928734. 3
42558928735. 4



Question Number : 96 Question Id : 4255897388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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C,AD,BE
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Options :

42558928736. 1
42558928737. 2
42558928738. 3
42558928739. 4

Question Number : 96 Question Id : 4255897388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558928736. 1
42558928737. 2
42558928738. 3
42558928739. 4



Question Number : 97 Question Id : 4255897389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRad Praa-Piadl &l UHRH ad & IR Ugd Y 9lg & bl H aiid S ;
LIRS

A

B. HRd-YRdl

C.  3fPbidH IRY

D. Ugls W dlddd

E.

i feu e fadb el o 9§ W@ 3<R g

1 A E D,BC
2. B,C,ELAD
3. D,C,EAB
4. B,AEC,D
Options :
42558928740. 1
42558928741. 2
42558928742. 3
42558928743. 4

Question Number : 97 Question Id : 4255897389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafaRad Proa-Fiadl &l UHIRH ay & IUR Ugd Y 91a & bl H aaiyd Hifolu ;
i

A
B. HRd-HRdl
C.  3fdld H IR
D. Ugs W dlded
E. 349l
il feu v fab el Ff 9§ et 3R g
i, AED,B.C
2. B,C,EAD
3, D.CEARB
4 BAECD
Options :
42558928740. 1
42558928741. 2
42558928742. 3
42558928743. 4



Question Number : 98 Question Id : 4255897390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

BT B FafaRad uisaat o 98 or H srafud Sifeu

A Tl PG g G ghH

B. IR IRA-MH Udd

C. YU o gRadd Hgad

D. U AR R SFRIRA

. WO Redad g

i feu U fadb el o ¥ W@ 3<R g

1 A, B ECD
2. A, D CBE
3. E.B,D,C A
4. E,D,B A, C
Options :
42558928744. 1
42558928745. 2
42558928746. 3
42558928747. 4

Question Number : 98 Question Id : 4255897390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

BT DI FgieTRad didadl &l 9l H H HaRd $Hifolu -

A T PO gcE g

B. IR IRA-TH Udd

C. &Y U URddA H gad

D. U TaRIF 1R SRR

P OQOadWReidesd

il feu v fab el F 9§ et 3R g

T A BECD
2 A DCBE
3 E,B,D,C,A
4, E,D,BAC
Options :
42558928744. 1
42558928745. 2
42558928746. 3
42558928747. 4



Question Number : 99 Question Id : 4255897391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

m%aamaﬂ’r Y grid FafcRad Siadl & Ugd I d1¢ o hH H HaiRId BHifSh :
A §

B. ﬂ%ﬁalaar%q

C 3TH P UR gR

D. <ciddl H g

E. Siddr & A4 ufaaH

A feu v fadbedl Ff O [t 3R g
1. C,EB,AD

2. B,AED,C

3. CAEBD

4  AECD,B
Options :

42558928748. 1
42558928749. 2
42558928750. 3
42558928751. 4

Question Number : 99 Question Id : 4255897391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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T e ey

A
B
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D. <Pl H feTd

E. $iddrd AU ufdaH

il feu v fadbedl § 9 et 3R -
t: CEBAD

2: BALEDE

3. CAEBD

4  AECD,B

Options :

42558928748. 1

42558928749, 2

42558928750. 3

42558928751. 4



Question Number : 100 Question Id : 4255897392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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A HIEHN & Rigid

B. HicHMG

C.  JaKidl &l fR¥gid
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E. I Rigid

i feu U fadb el o 9 W@l 3<R g
1 D,A B CE,

2. C,BAD,E

3. D,C,ABE

4. ABECD

Options :

42558928752. 1
42558928753. 2
42558928754. 3
42558928755. 4

Question Number : 100 Question Id : 4255897392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafdRad Hroa-Rigidl &l ugd U 9l & dbld-cbH H sHaiyd SifcH -
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C.  Jarddl &l ¥gid
D. o= Risid

S S 22 e A I

- feu e fadment § O 9t IR I
1. D,A,B,CE,

2. G BAD,E

3. D,CABE

4 ABECD
Options :

42558928752. 1
42558928753. 2
42558928754. 3
42558928755. 4



Question Number : 101 Question Id : 4255897393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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i feu e fadb el o 9 W 3<R g

1. B.EADC

2. C,BEAD

3. D,ABEC

4 D,B,ECA
Options :
42558928756. 1
42558928757.2
42558928758. 3
42558928759. 4
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Question Number : 101 Question Id : 4255897393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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il feu v fadb el Ff 9§ et 3R g

1. B,EAD,C

2. CBEAD

3. D,ABEC

4, D,B,ECA

Options :

42558928756. 1

42558928757. 2

42558928758. 3

42558928759. 4
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Question Number : 102 Question Id : 4255897394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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A feu T fadbeul I O [ 3R g
1. B,AED,C

2. CEABD

3. D,CAEB

4. C,AD,BE

Options :

42558928760. 1
42558928761. 2
42558928762. 3
42558928763. 4

Question Number : 102 Question Id : 4255897394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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il feu T fadbeul 4 9 @t 3R -
1. B,AED,C
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3. D,C,AEB
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Options :

42558928760. 1
42558928761. 2
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Question Number : 103 Question Id : 4255897395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Question Number : 109 Question Id : 4255897401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

< &1 glad’ w3 fou 1 Fufaiad darci § 9 & ¥ Ydig AT S udl & g ?

A 38TUBdIS 3] Yedl & °R Uol &, Id-HR &2 del 3. dd ST

B. i34 e ¢l fh 3{ex U Al d¢ B d |

52 aﬁéﬁq%?ﬁamaahﬁaﬁ%a% 3[R Pig Jacl-Wiel 91 8l T2, i Dl g1 <1, o RT Hell
ST 3 |

D. dIg &ls digdl c YT gl ¢l TR 3HARI ¢ |

E. Sl dg i Tl 3 e | wrie o ol iz Iy €l sRiHer g, Stel di |1 @i |

Al feu e fadb el o 9 @t 3R g

1. @dd A B3RC

2. SAdA3RE

3. &adE3RD

4. ddC,D3RB

Options :

42558928788. 1
42558928789. 2
42558928790. 3
42558928791. 4



Question Number : 110 Question Id : 4255897402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fgfafad 59 & O &uF ifddarg 9 deftid g2

A HKIddIE ST HAMR é’raaﬁlasm%'l
B. Q&g Y- %%Raﬂ Bl gl gl

C. -3f&IddIa’ T Bl 1940 & a2 H DIbIIG - Tl Al |
D. Yg R TMifd U ARTGad] Hid g

E UH 2if&add] ded SR fdd aiHl g |
i feu U fadb el o ¥ W@ 3<R g

1. @ddA,B3RD

2. &hdd A B3IRE

3. @adCc3RD

4  HAdC3ARFE
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42558928819. 4



Question Number : 117 Question Id : 4255897409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T A<l ¥ G FEfiaRad # 9 S0 I B 82

A IS I ARSI 1848 3 H g AR AAMUBR Pl Gl UaH Bl

B. 1946 H IR ol < R Tgad g  fay R &1 Afgaredl & g w0 IsHifde 2nfie 2R
Qe ARIBR fea & AU Ueb ATGRT 1 718 fobam|

C.  dgl g3 &d ¢ Bl fed MRl RidIe B Hgayul J&id 8l

D. ¢ e &1 Yidd < [hild g Tl 3iT-< e & olfile U3 gl

E I S¥He & Y ARgeid uifafear = Wil efslad @I sifdard] &u fear|

i feu o fadb el Ff 9§ Tet 3<R g

1.  hdd A, B3R C

2. @ddA,DS3IRE

3. @ddD3RE

4, hddC 3RB

Options :

42558928820. 1
42558928821. 2
42558928822. 3
42558928823. 4

Question Number : 117 Question Id : 4255897409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T A<l Y G FafaRed # 9 S0 I B @2

A Y I AT A 1848 S H g1 AR HAMYUBR P Gl UaH |

B. 1946 H Rl &I <M W JYad Ay = fay +R &I Afgared & e gam Iorifdes sniie MR
e PR Ram & fau v mai o1 71a faban

C.  dgl s dd ¢ bt s MRl Ridle & Hgayul y&id 8l

D. ¢ Tiee &l Yidd < i Fridh Tl =51 &l ol U1d gl

E YA EYAC bl G&ih Yagsld Uifaicdy = Tl 3=ia- &l idardt &4 e

il feu o fab el Ff 9§ et 3R g

1.  hddA,B3MRC

2. @ddA,D3IRE

3.  @dd D 3RE

4, hddC 3RB

Options :

42558928820. 1
42558928821. 2
42558928822. 3
42558928823. 4



Question Number : 118 Question Id : 4255897410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

el Hifdwdre O wEiig Fofafed & O SH-8 90 56 @

A WG b AR GHS D1 A gl 8l sidei & Jayd FuRe dd 81
B. 3dIGH &b ITHl &bl W& M1 daell ol FuiRd 78 dar g

C.  eoldd HIfdhdig gg Iadidi g fb THS &t e dadl FRa R &l g
D. HiR b IR 3d dcb bl YRTHIHd Sfclgr o duy bl 3fde™ gl

E. Ta & SJHR YrfddIe, Ueidre & <R 2de gidl gl

i feu 7 fadb el o 9§ W@l 3<R g

1. @dd A, B3RC

2, WB,DS?RE

3. @HAdA3RD

4  HAdC3ARFE

Options :

42558928824 1
42558928825. 2
42558928826. 3
42558928827. 4

Question Number : 118 Question Id : 4255897410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TiagiRie Hildware I gt FHfcRad 3 3 SH-3 9 $UH g2

A HiaH b AR IS D1 i a8l sidei & Jayd FuRe dd 8l

B. 3dIgA &b UIYHl & =Y ST daef &l FUiRd Tl &dl o

C.  ggld® HIdddIc Ug dddidl ¢ [ JHIS D Idlad aadi FRaR R & g
D

E

TR & R 3fd cfb Dl YRT AT Sicg™ o d9y &1 3ideM gl
IR & IR YHddIE, Ysildie &l @R (a8 gidl Bl

il feu v fab ol Ff 9§ et 3R g
1. $adA,B3RC

2. &ddB D3RE

3. $ddA3RD

4, DddC 3ARE

Options :

42558928824. 1
42558928825. 2
42558928826. 3
42558928827. 4



Question Number : 119 Question Id : 4255897411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fafafad @9 &I I by TRy Heftid g -

A IR 3MYHHdl Heladid & [a%s 6l

B. R 3MYFchdl & e | S4R T4 gl
C.  3UH gHdER] aHIfS Idi ST IHR ol
D. 3R Yl Idwbedldic bl U Ul Bl
E. 390 3YFdhdidig ol Y&l bl THR g
i feu 7 fadb el o ¥ W@ 3<R g

1. $HadA3RB

2. ®ddB3RD

3. &ddC, D3IRE

4.  Had A, C3IRE
Options :

42558928828. 1
42558928829. 2
42558928830. 3
42558928831. 4

Question Number : 119 Question Id : 4255897411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FafARed 1 ¥ I I Y- ITRAYHS I Heftid ¢ -

A 3R 3YiHdhdl Helgdid & [a%E ol

B. 3R AYMehdl & fdd T S4R FaiuR gl
C.  3ud gHJEE gdHIfe Idi o1 AdR gl
D. SR AYFhdl W=daddig bl Udh 2l g
E SO 3nYFahdrg ol G&wd &1 THR ¢
il feu v fadb ol Ff 9§ et 3R g

1. DddA3RB

2. ®ddB3RD

3. @ddC,D3IRE

4, hdd A, C3RE
Options :

42558928828. 1
42558928829. 2
42558928830. 3
42558928831. 4



Question Number : 120 Question Id : 4255897412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HIYT b1 [ARINTs! & e | FafaRad H 8 &F - 4 Y- I 6 -

A YT Oge e B

B.  HINI UAR] g, Aidd 3UDI 2o B Tdbdl 6, 34 I4d ol &R gdbvdl |
C. YIS &l § Rfadl 3R Ulgdl H Sfuiedl ol 3R Siidl g1
D. uaﬂaswmaﬁqastﬁiﬂﬁaimmam%|

E. Udd UMYl &l ATdI0b TR THH Bidl gl

il feu e faam et 1 9 TGl SR I

1. &dadE C3RA

2. BHadC3RA

3. $dadB3RD

4. &HddB,E3RD

Options :

42558928832. 1
42558928833.2
42558928834. 3
42558928835. 4

Question Number : 120 Question Id : 4255897412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HIYT b1 faRiwdrsl & T A FafaRad O oH - Yl o

A YT Ogh e B

B. YN IR g, Aldd 3YDI Asi- D= Tehdl B, 34 I ol B2 gobdll |
C.  HTHT G ¥ RN 3R UGl H SMUIGdl b 3R Skl 81
D. uaﬂammaﬂqaﬂﬁlﬂﬁa?mmam%

E Uddd YN &l HE@riOfdh ST 99  gidl gl

il feu T fadbedl 4 9 @t 3R -

1. &adE C3RA

2. hdd C3RA

3. &ddB3RD

4. &Hdd B, E 3R D

Options :

42558928832. 1
42558928833. 2
42558928834. 3
42558928835. 4



Question Number : 121 Question Id : 4255897413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

GRS Il b HeH T DI 91 a2 el g 6 -
A GF GoIR UBI &I dgd 3T IR0 B

B. HBA DT - didd (BUH), g8, AR, e, Mo, AR /i g
C. 69 99T (I 41 3{&M) ¢
D
E.

PRSI bl g d¥G1s o YA degs - G Tl |
UrEd TRIRIbR SRS A=l H afvld gerail a1 Jadi &l HIel &1 deuHl gl HIFd el

+id feu 70 fadbeut §f O Wel SR I
1. &dd A, C3IRE

2. ®HaddB3RC

3. &ddB,D3RA

4  HAdD3RE

Options :

42558928836. 1
42558928837.2
42558928838. 3
42558928839. 4

Question Number : 121 Question Id : 4255897413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

GIRIST I b HeH T I I d& Hel 18l 8

A. Gl oIk gl &l dgd a1 U

B.  HT ¢ - Biad (BUR), gel, dHR, Alep, el AR i €1
C. 69 9HY (I 91 31<m) gl

D. RIS Il Bl dq sRals b YA degs - GR1 fbdr o |

E USdTRINieR eRMe A= I | afvfa gereit aul Jadt &l HIct & dedH1 9l 7Hd g1
il feu v fab el Ff 9§ et 3R g

1. $adA, C3RE

2. $ddB3RC

3. @ddB D3RA

4. Had D 3RE

Options :

42558928836. 1
42558928837. 2
42558928838. 3
42558928839. 4



Question Number : 122 Question Id : 4255897414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR 21 a1 0 i ez fet 4 wwaifod 3

A SiTell thd
B. IS Pl oRg oold Tea
C.  HAHoH &I S
D. HAHIMNSI Hlcdhd g3l
E. UMl
i feu U fadb el o 9 W@ 3<R g
i B, D
2. &dd B,C,E
3. @&dad A, C
4 &dd A B,D
Options :

42558928840. 1
42558928841. 2
42558928842. 3
42558928843. 4

Question Number : 122 Question Id : 4255897414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Frafafed o ¥ S 0 Hiat sfeard fansid wefa g

A STl Bd
B. IS &l oRg dold 2eq
C.  HAHSH B SR
D. TAUIIST Alddba gail
E. UH AT
il feu o fadb el Ff 9§ et 3R g
i B,D
2. &dd B,C,F
3. dad A, C
4. &dd A,B,D
Options :

42558928840. 1
42558928841. 2
42558928842. 3
42558928843. 4



Question Number : 123 Question Id : 4255897415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FFEiaRad H ¥ & - i P Ufdadl 2R U1 gRIA 8 -

A TP AR O &l HFET | T drehl TWRTSGf g |
B. YIS fug urag 3, Uy fa =R Ay 34ifor |
C. TP AR =R fbd1 | Iy AR Uk H fean i)
D. 3 Sl arfl R H Pal STierm AR |

[, dH A did A8 7 | 818- g1 H did 96 |1
il feu e faam et 1 3 W6l SR I+

1. &dd B,D

2. &dd B,CF

3. ad A CF

4. &dd A B,D

Options :

42558928844. 1
42558928845. 2
42558928846. 3
42558928847. 4

Question Number : 123 Question Id : 4255897415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FofaRad 1§ O oF - Tl oy ikl 2R ORI RIS 8 -
U AR 01 &l HIHT | a4 dihl TR <l gl 1

U St amht R H el Sife™n 2 |
M HiY did 8T 1 | 8IS- Bmffala?%ﬁn

-I}-LUI\J—‘%"'"UHUU}
=
2
1
.
4
ik
s

Options :

42558928844. 1
42558928845. 2
42558928846. 3
42558928847. 4



Question Number : 124 Question Id : 4255897416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fgfafad °#9 ®H-®H I eg Tlfe g -

A THEd

B. ufHmm

c.

D. d3lidd

E. 39

i feu v fadb el I 9 gt 3R g

1, ACE

2. &ddB,D

3. @ddA,D,E

4 $HddB,C
Options :

42558928848. 1
42558928849. 2
42558928850. 3
42558928851. 4

Question Number : 124 Question Id : 4255897416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FgfaRad § 9 ®H-® I Yeg Wl g -

A TEa

B. ufmr

C.

D. didd

E 9

il feu v fadb el Ff 9§ Wet 3R g

1. $dadA,CE

2. $ddB,D

3. $ddAD,E

4, DddB,C
Options :

42558928848. 1
42558928849. 2
42558928850. 3
42558928851. 4



Question Number : 125 Question Id : 4255897417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g1 1 Felt-1 3 gaferd o1 -

-l -1l
A Old §6 R IEHR T Sifbel b | Hgledl anf
B. YIS W tRidy 3fd di-ich dpferd a -1 I TSI HiYd gladdiy
C. TR dleh deT -Tel Tel forgH ok efadie Nl SRR W
D. Tdd ¢S BlUR 39S R ab G faaddi ¢ v, AR
Jbid ool el
il feu o fab ol Ff 9§ et 3R g

1. A-lll, B-1I, C-I, D-IV
2 A-IV, B-lll, C-I, D-1I
3 A-l, B-Iv, C-I1II, D-II
4. A-IV, B-I, C-I1, D-1lI

Options :

42558928852 1

42558928853. 2

42558928854. 3

42558928855. 4

Question Number : 125 Question Id : 4255897417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TAl-1 bl Flt-1 3 gAferd o -

g -1
A Old §8 R IEHR T Difbel b | Hgledl aA
B. TS R eRIGY 3fd dfFich deplerd d -1l Il TSI HiYd gl
C.  UHT o ol daT -Tel el FSraH o eiadre L SR WG
D. dHdd §WS glUR b R db G [ddbdig v, ANISH
Ibid ool T
id feu 70 fadeut 7§ O Wel SR I

1. A-lll, B-1I, C-I, D-IV
2. A-IV, B-ll, C-1, D-lI
3. A-1, B-IV, C-lII, D-lI
4, A-IV, B-1, C-II, D-1ll

Options :

42558928852. 1

42558928853. 2

42558928854. 3

42558928855. 4



Question Number : 126 Question Id : 4255897418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TAl-1 D1 FA-1 H AT 61
-1 gat-n
TeqTf Al pret | efFgadd

A.
B. Uc e dfa: . 3Mfd
C.  Gdid diad N g gad
D. U AT Iv. HWg

A feu v fadbeul I O [t SR I

1. A-ll, B-IV, C-1, D-1lI
2. A-lll, B-1, C-11, D-IV
3. A-IV, B-1, C-1I, D-IlI
4. A-l, B-1l, C-IV, D-I

Options :

42558928856. 1

42558928857. 2

42558928858. 3

42558928859. 4

Question Number : 126 Question Id : 4255897418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Tell-1 D1 -1 4 goferd o1
- -1
A Seerdf gfgdl dred | FcatH

B. g Igcm i TR EE s |
c. R IC AR |||. g o
I Hiiar V. HIHg

:ﬂ%ﬁnwﬁaﬁﬁfﬁﬁaﬁraﬂigﬁ

1. A-ll, B-IV, C-1, D-llI
2. A-lll, B-1, C-II, D-IV
3. A-IV, B-1, C-11, D-lI
4. A-ll, B-1Il, C-IV, D-I

Options :

42558928856. 1

42558928857. 2

42558928858. 3

42558928859. 4



Question Number : 127 Question Id : 4255897419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g1 1 Felt-1 3 gaferd o1 -
it

-l -

A <GB gdlcdl Pl de L B g gEet
B. HFH-dRI - I T el gd 91

C. WRYAHIG . oFh ol Sid-sifd
D. Faddf &9 eH &l IV. AR R Ri$R
i feu T fadb el I 9§ W@ 3R g

1. A-ll, B-lI, C-1, D-IV
2. A, B-1vV, C-ll, D-I
3. A-IV, B-lll, C-1, D-I
4. A-IV, B-lll, C-1l, D-I

Options :

42558928860. 1

42558928861. 2

42558928862. 3

42558928863. 4

Question Number : 127 Question Id : 4255897419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TAl-1 ! Felt-1 3 Aferd &y -
-
cggalca I 9% I B Ty gaaTe

A.

B. ®MHA-ARI A1 I g6 9d d1d

C WUAAIRIE . St S-S
D. Fadd &g aH &l Iv. R R bR
:ﬂ%ﬁqwﬁfﬁq‘fﬁﬁﬂﬁaﬂ?gﬁ

A-lll, B-11, C-I, D-IV
2. A-lll, B-1V, C-1l, D-I
3. A-IV, B-lll, C-I, D-I
4. A-IV, B-lll, C-1l, D-1
Options :
42558928860. 1
42558928861. 2
42558928862. 3
42558928863. 4



Question Number : 128 Question Id : 4255897420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g1 1 Felt-1 3 gaferd o1 -
T

TITPR AT

A e g Surery gieeiy L gk aid

B. dIdl iHdM <™ Il Vegd faem
C.  YRYTRErT N cHEd R
D. ﬁ%’% V. 3RRE ISR
R o9 wel 3w g

1. A-ll, B-I, C-IV, D-IIl

2. A-lll, B-1V, C-I, D-Il

3. A-IV, B-II, C-I, D-II

4. A-ll, B-lll, C-1, D-IV
Options :

42558928864. 1
42558928865. 2
42558928866. 3
42558928867. 4

Question Number : 128 Question Id : 4255897420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

l-1 1 -1 3 gaferd o3 -
AL

TR AT

A 3 Rig Surer gikeiy R = 02

B.  drell A g I UegH fdem
C.  AYRRUTIRGEHT N GHY IR
D. IV, 3FRRIE IR
:ﬁ%ﬁﬂwﬁ%ﬁﬁﬂﬁﬁﬂﬁ

1. A-ll, B-I, C-IV, D-Ill

2. A-lll, B-1V, C-I, D-Ii

3. A-IV, B-II, C-1, D-1lI

4. A-ll, B-lll, C-1, D-IV
Options :

42558928864. 1
42558928865. 2
42558928866. 3
42558928867. 4



Question Number : 129 Question Id : 4255897421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TAl-1 D1 -1 G D1

Al Gl
A UKGH | R dgslie
B.  diomuifor Il FEFEITUSIO dgsilie
C.  HUREN N Jedidgsiie
D. Yed Iv. oAfdegR dgdifs
A feu T fadbeul I O @t 3R g
1. A-IV, B-l, C-lI, D-1I
2. A-ll, B-IV, C-lll, D-I
3. A-ll, B-l, C-IV, D-ll
4. A-lll, B-II, C-1, D-IV

Options :

42558928868. 1
42558928869. 2
42558928870. 3
42558928871. 4

Question Number : 129 Question Id : 4255897421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

G| g D
THl- |@ﬂiﬂ 11 gaferd s
A UG | ARBIY dgslie
B.  diomgifor Il HHAMIUD0 dgsliie

c. TRER . JadnT agsitie
T Iv. afdgR dgdlife
:ﬂ%ﬁnwﬁfﬁ@fﬁﬁaﬁraﬂigﬁ
A-IV, B-1, C-1I, D-1ll
2. A-Il, B-IV, C-Ill, D-I
3. A-ll, B-I, C-IV, D-lIl
4. A-lll, B-lI, C-l, D-IV
Options :
42558928868. 1
42558928869. 2
42558928870. 3
42558928871. 4



Question Number : 130 Question Id : 4255897422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g1 1 Felt-1 3 gaferd o1 -
S

-1
A Slifadrdd I Hiadrad S50 L AP
B. TaRIvOrY HigaEw I I Po-DRA
C.  Yard fazmu N, gH-dH
D. cHfdddidd d {uddicd il V. ad —fadHr
i fu T fadb el O 9§ Wl 3<R g

1 A-IV, B-1Il, C-1l, D-1
2. A-1ll, B-IV, C-1, D-lI
3. A-1, B-ll, C-IV, D-I
4. A-Il, B-1II, C-I, D-IV

Options :

42558928872. 1

42558928873. 2

42558928874. 3

42558928875. 4

Question Number : 130 Question Id : 4255897422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TAl-1 ! Felt-1 3 Aferd &y -
LSl

SiTfddrdd I Hiddrdd I3l l.

G-
A. Ay - AP
B. TaRINUIY Higdred Il I Po-PRA
C. Y9 fazmo n.  gE-de
D. HAldddrdd I qddidd I3l V. T — T
il feu v fab el F 9§ et 3R g

T A-IV, B-Il, C-I, D-I
2 A-lll, B-IV, C-I, D-1I
3 A-l, B-1ll, C-1V, D-II
4, A-ll, B-1Nl, C-1, D-IV

Options :

42558928872. 1

42558928873. 2

42558928874. 3

42558928875. 4



Question Number : 131 Question Id : 4255897423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 Dl Feft-1 3 gaferd o3 -
-1

ot
Pid

Dfd
A Higddd dedl ‘fagnf | HYDU
B. YR o ‘e’ Il %
C.  MiddieRo aHi n. i
D. %% 3l V. SRS
id feu 70 faseut # § Hel SR I

1. A-l, B-1ll, C-1V, D-II
2. A-lll, B-IV, C-I, D-II
3. A-ll, B-IV, C-lll, D-I
4, A-l, B-1l, C-Iv, D-1ll

Options :

42558928876. 1

42558928877. 2

42558928878. 3

42558928879. 4

Question Number : 131 Question Id : 4255897423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 bl Felt-11 3 GAferd oy -
g1

Rsl
Pid

Dfd
A Higddd Hed! ‘faanf | HYBU
B. WY dd ‘el Il P
C.  Yiddi=Rurani m. e
D. 1% V. ORI
%ﬁqwﬁmﬁﬁaﬁaﬂ?gﬁf

A-l, B-III, C-IV, D-II

2. A-Ill, B-IV, C-I, D-1I
3. A-Il, B-IV, C-III, D-1
4. A-l, B-1l, C-IV, D-1ll
Options :
42558928876. 1
42558928877. 2
42558928878. 3
42558928879. 4



Question Number : 132 Question Id : 4255897424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a;ﬁ-l%ﬁiﬁ-uﬁgﬂﬁﬁaﬁ:

g1l
LEE | e
A O duad | Tedl U™ &l U s a2 = 5
B. Hdl 3fidd Il i el® &I U - HaR AR
C. 3R EE PN . T CeT U - dl T (a2l
D. oIud V.  GERI BT R - Hicbic aui
i feu v fadb ol 7 9§ et 3R g

1.  A-IV, B-lll, C-ll, D-I
2 A-1, B-lll, C-I1, D-IV
3. A-lll, B-1l, C-IV, D-I
4. A-lll, B-1, C-IV, DI

Options :

42558928880. 1

42558928881. 2

42558928882. 3

42558928883. 4

Question Number : 132 Question Id : 4255897424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

-1 bl et 3 Al
Iﬂ?ﬁ I

-l -1l

LEE | il
A IR ggad | & Sua &l U 42 fezn A o1
B. Hdl 3fidd Il i e &I U - R ARE
C.  SfRdgHR Nl Tch eI UL - ol Tihe el
D. oITd V.  GERI BT Rb - Gicbid aui
il feu o fadb el Ff 9§ et 3R I
1. A-IV, B-lll, C-1II, D-I
2. A-l,B-Ill, C-Il, D-IV
3. A-lll, B-II, C-IV, D-I
4. A-lll, B-I, C-IV, D-Il
Options :

42558928880. 1
42558928881. 2
42558928882. 3
42558928883. 4



Question Number : 133 Question Id : 4255897425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 Dl Feft-1 3 gaferd o3 -
-1

PIa-ufgadl
A BIGR | ¥ e gfedl &< uH 3R
sifeal R
B. WiRM I 3B G & dRgd
faig W Uid ¢ 3aHi g
C  YHg . 89 d WRAR Y2 9w
oM ol geRT Rt Rerd
D. dl Iv. Sgi-sdf FeiRd g A
il —l @’ e 4 Fieprs
il feu Tt fadb ol § 9§ Wt 3R -

1. A-IV, B-Il, C-lll, D-I
2. A-Ill, B-IV, C-1, D-II
3. A-lll, B-1, C-11, D-IV
4. A-1, B-Il, C-lll, D-IV

Options :

42558928884. 1

42558928885. 2

42558928886. 3

42558928887. 4

Question Number : 133 Question Id : 4255897425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 ol Fet-1 3 gaferd o3 -
-1

Pra-ufel
A BIGR | ¥ e gfedl &< uH 3R
sifaal =R 4l
B. HiRM I 3T B G & dRgd
fAig W Uid ¢ eI g
C.  HHFg . 9 dl 9 ye gl v
L] gRagi RERy
D. |l Iv. Sgi-sdf FeiRd g A
i~ W R ) s
il feu Tt fadb el o 9§ Wt 3R -

1. A-IV, B-Il, C-llI, D-I
2. A-lll, B-IV, C-I, D-II
3. A-lll, B-1, C-11, D-IV
4. A-1, B-Il, C-lll, D-IV

Options :

42558928884. 1

42558928885. 2

42558928886. 3

42558928887. 4



Question Number : 134 Question Id : 4255897426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g1 ol Felt-1 3 gaferd o3 -
A

T -
i u PoMT
A i . el
B. fow Il galsdrcl
C. dal N, PHEH A
D.  3HIdr Iv. ST FREREr
il feu Tt fadb el o 9 W@t 3R -
1. A-ll,B-lll, C-IV, D-I
2. A-lll, B-II, C-I, D-IV
3. A-l B-Il, C-IV, D-III
4 A B-ll, C-lI, D-IV

Options :

42558928888. 1
42558928889. 2
42558928890. 3
42558928891. 4

Question Number : 134 Question Id : 4255897426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
q:ﬁ..%q:ﬁ.u@gﬁmaaﬁ; o
-l -1l
LI 7 DI

A i . el

B. [ Il.

C. dal N, PHEH A
D. 3K v, IS FREREr
Al feu e fadb el o 9 @t 3R g

1. A-ll, B-lll, C-IV, D-I

2. A-lll, B-Il, C-l, D-IV

3. A, B-ll, C-IV, D-IIl

4. A-l, B-lll, C-ll, D-IV

Options :

42558928888. 1
42558928889. 2
42558928890. 3
42558928891. 4



Question Number : 135 Question Id : 4255897427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

11 1 Flt-1 3 GAferd &3 -
-1
ey
A, 36 ST HHIMR .
B. SWIGFH & IAH-IH L

C.  Tolgdl 3R U Il
D. ARGl dgd g \

i fdu e ﬁrﬁﬁf ¥ ¥l 3R g
1. A-ll, B-IV, C-1, D-1ll
2. A-IV, B-1, C-11, D-1Il
B A-ll, B-IV, C-I, D-1ll
4. A-lll, B-IV, C-lI, D-1
Options :
42558928892. 1
42558928893, 2
42558928894 3
42558928895. 4

-1

dfad

B IdM diel 3R HS =R diel WHId I I1Y gid

gaﬁaﬁa{‘r@tffm@?ﬁﬁgaﬁaﬂwéﬁmam
|

3{eUal U 9T ea+iid Sild gidl g

S Ueh T YRR G371 g

Question Number : 135 Question Id : 4255897427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A1 1 -1 3 gaferd o3 -
Tt
Ay
A 36 S IHIhR .
B. SRIGIEH & 3H-UE L.

C.  Holgd 3R " 1L
D. ARG RIEed g \Y2

i fqu T fasb el # ¥ |gt 3<R H:
1. A-ll, B-IV, C-1, D-lll
2. A-IV, B-I, C-11, D-l
& A-ll, B-IV, C-1, D-1ll
4. A-lIL, B-IV, C-1l, D-1
Options :
42558928892. 1
42558928893. 2
42558928894. 3
42558928895. 4

Tl-1I
e

B4 ddM dld 3R HS =R did WU I 91 Wé‘@lﬁ%

gaﬁaﬂm@ﬁﬁm‘@?ﬁﬁgaﬁaﬁ T UebTaI Bl
|

el U 93T <o+ Siid Bidl B

SIaH U T YRR 9sT 6l



Question Number : 136 Question Id : 4255897428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks :

a;ﬁ-lgﬁﬁiﬁ-uﬁgﬂﬁﬁ
-l

Pl

A, SIERTHIG

B. T AITlC b

c. Idlean
D. TUdh dheHiggHl

0

Cog

V.

%ﬂ

Sid 7 <9 el 1 gafT, Tiid H </ ol WM 311 | TR SR
el Uiy U3l

A U AR Y- TSRIeh] 1 blg 3id g, = Hiold | a9, FRaR
ddd STHT &l foryep! if=ardar g, =mae Hafd i

AT ¥ UgddR US| & UM Y c-gHd dg JHl 04 6l 51 34 [da
o T 21 g Hid Xl AT fob 3fd a9y =1 gl ar - gl

oG gRIT 30 i 3{fiead BHRd g T draiy auf ¥ SHUR gl

g gl ga- Tl | T 3 &8 WR gl IR b Yl -3k
DAIDR & [t 338 931 Tivie Ag1-cb B pw 1} T 47 fera il
X 3R Y gl 331, Sl 39H el SUST-YHST -3fdral & HHdl o
i

i forw 7 et & 9 W€ IR

1 A-ll, B-IV, C-lll, D-1
2. A-IV, B, C-HHI, D-I
3 A-ll, B-1Nl, C-1, D-IV
4. A-lll, B-IV, C-1, D-lI

Options :

42558928896. 1

42558928897. 2

42558928898. 3

42558928899. 4



Question Number : 136 Question Id : 4255897428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks :

0

g1 1 Felt-1 3 gaferd o1 -
Tl

Pid
A ORI A

B. oY UG b=

c. Idfean

D. UdbdheHIgg4l

V.

%ﬂ

Sid 7 <9 el 1 gafT, Tiid H </ ol WM 311 | TR SR
el Uiy U3l

A U AR Y- TSRIeh] 1 blg 3id g, = Hiold | a9, FRaR
Tdd STHT el foriep! tf-1arfdr g 2mae Fafd o

T ¥ UgdaR US| & U -9 dg {04 6l 59 34 [daT
o 11 21 g Hid Xl AT fob 3fd 9199 21 gl AT gl

G gRI 31U ol 3{fiedd $Hrd gu 4 ddly auf ¥ SR gl

g gl ga- Tl | T 3 &8 WR gl IR b Yl -3k
DAIDR & [t 338 931 Tivie Ag1-cb B pw 1} T 47 fera il
X 3R Y gl 331, Sl 39 el SUST-YHST -3dral & HHd| o

il
A feu U fadh el o 9 Wl 3<R g
1.  A-ll, B-IV, C-lll, D-I
2. A-IV, B, C-HHI, D-I
3. A-ll, B-1Nl, C-1, D-IV
4. A-lll, B-IV, C-1, D-lI
Options :
42558928896. 1
42558928897. 2
42558928898. 3
42558928899. 4

Question Number : 137 Question Id : 4255897429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

g1 1 Felt-1 3 gaferd o1 -
Tl

PR AT
A TG B UG IRl A 4 I 7
B. XIgd YR Il o= PRl
€ I |l . %ﬁmagﬁﬂm
D. Sl YgWic Ygigedl V. dIgTH 31 gel
Al feu e fadb el o 9 @t 3R g

1. A-lll, B-IV, C-ll, D-I
2. Al B-ll, C-lIl, D-IV
3. A-IV, B-Il, C-1, D-lI
4. A-Il, B-1Il, C-IV, D-I

Options :

42558928900. 1

42558928901. 2

42558928902. 3

42558928903. 4



Question Number : 137 Question Id : 4255897429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g1 1 Felt-1 3 gaferd o1 -
- -1

PR AT
A TEMgIUIeI g Udle TRl | Tl dINT
B. XIgd YR Il o= Rl
€ I |l I, ;ﬁ%‘%ﬁjﬂqﬁmﬂm&ﬁ
D. Sl YgWic Ygigedl V. aol
Al feu e fadb el o 9 @t 3R g
1. A-lll, B-IV, C-II, D-I
2. A-l,B-II, C-lll, D-IV
3. A-IV, B-lll, C-1, D-II

4. A-Il, B-1Il, C-IV, D-I
Options :
42558928900. 1
42558928901. 2
42558928902. 3
42558928903. 4

Question Number : 138 Question Id : 4255897430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

l-1 1 Fe-1 3 gaferd o3 -
T

RITIH1/ AR aq
A 3IcdHAKS BT UBRHE L 1910
B. U¥ddl URdhT &bl UbTIH I 1893
c.  Tedh uied ¥, Ug R &1 TUUHET . 1826
D. TR YR T &1 TG V. 1900
Al feu e fadb el o 9 @t 3R g

1. A-ll, B-IV, C-1, D-lI
2. A-lll, B-IV, C-II, D-I
& A-IV, B-lll, C-1, D-II
4. A-IV, B-lll, C-l, D-1

Options :

42558928904. 1

42558928905. 2

42558928906. 3

42558928907. 4



Question Number : 138 Question Id : 4255897430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g1 1 Felt-1 3 gaferd o1 -
Tl ﬁ-u

R/ UPIRH
A 3odHKiS B UBRH L 1910
B. UXddl URdhT &bl UBTTH Il 1893
c.  Tedh uiecd g¥ e, Ug Rl &1 TAHET . 1826
D.  ATRI U=RU T &1 TG V. 1900
Al feu 1t fadbcul o 9 W@t 3R g

1. A-lll, B-IV, C-l, D-lI
2. A-lll, B-IvV, C-ll, D-I
3. A-IV, B-Il, C-1, D-lI
4. A-IV, B-IIl, C-1, D-I

Options :

42558928904. 1

42558928905. 2

42558928906. 3

42558928907. 4

Question Number : 139 Question Id : 4255897431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

- |ﬁﬁiﬁ 11T gAferd &9 -
-1

ﬁmamﬁugﬁw 3T
A B . SHidHfsse
B. Sldsld TRERE 2| 2|
C. HHId N, 3sliad dRIA™
D. GId giol Iv.  Scdl & Il od
Al feu Tt fadb el o 9 W@ 3R g
1. A-IV, B-Il, C-1Il, D-I
2. A-ll,B-IV, C-1, D-IlI
3. A-IV, B-lI, C-1, D-III
4 A-ll,B-IV, C-lIl, D-1
Options :

42558928908. 1
42558928909. 2
42558928910. 3
42558928911. 4



Question Number : 139 Question Id : 4255897431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g1 1 Felt-1 3 gaferd o1 -
Tl

-l -1l
T = # Uga Mo KV

A Ul . SHidfsse

B. Sidsld IRERER G2

C. HHId N, 3sliad S RIA™

D. SN gl lv. ddl & drdl od

Al feu e fadb el o 9 @t 3R g

1. A-IV, B-Il, C-1Il, D-I

2. A-ll, B-IV, C-1, D-IlI

3. A-IV, B-lI, C-1, D-III

4 Al B-IV, C-lIl, D-I

Options :

42558928908. 1
42558928909. 2
42558928910. 3
42558928911. 4

Question Number : 140 Question Id : 4255897432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

l-1 1 -1 3 gaferd o3 -

L ey

A Ugdl 3id . HeH

B. GINI3d I o

C. dIERIsie 1. febdiaar-

D. Uiddl 3 IV. TORIFCE G HieR
Al feu Tt fadb el o 9 W@ 3R g

1. A-ll, B-IV, C-ll, D-I
2. A-ll, B-IV, C-1, D-1lI
& A-IV, B-lll, C-1, D-II
4. A-IV, B-1l, C-1, D-1ll

Options :

42558928912. 1

42558928913. 2

42558928914. 3

42558928915. 4



Question Number : 140 Question Id : 4255897432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g1 1 Felt-1 3 gaferd o1 -
il

-l TEI-1I
“YIRd GATIT & 3 RIF
A Ugdl 3 I A |
B. GIRI3fd I o
C.  diRI3ie . febdia@r-r
D. Uiddl 3 lv. R He i
Al feu e fadb el o 9§ @t 3R g

1. A-ll, B-IV, C-lll, D-I
2. A-ll,B-IV, C-I, D-lI
3. A-IV, B-Il, C-1, D-lI
4. A-IV, B-Il, C-1, D-1lI

Options :

42558928912. 1

42558928913.2

42558928914. 3

42558928915. 4

Sub-Section Number : 2
Sub-Section Id : 425589297
Question Shuffling Allowed : No



Question Id : 4255897433 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Frafafad samwu of vargde ye Trafia wetl & 3w div/H

Y DI DY Al o S-S, T U4l o R U & Dlg AR A1 Sl gl fbdl guar o, dfcp
fobaft ot Wit Tl |, SRS ! 311 dgH & fobd 3R b [ddhetl 3 8l Uchd ©, sﬁ’lﬁaﬂwaﬂ
Yol THig SHicsl Sl Gebell ¢ 1 Sfd 1l g ciac 0 bl s UR 311 T3 G ebell & ol S eb! b e-TIReicll bl
W%Gﬁ?ﬁ?ﬂaﬁﬁmﬂﬂﬁﬁ% dg fobcHil SSH R Udhdll © SUD! Uh 3£ Hyial 8¢ HINT o ¥20f &b
iR &t i< gidl X5 & 349 Hdicl &l dgadl of ol vt Wxpid &t =fdd sidt ol ai arediie 4 4d
I AR P ol Ricuhdl fayhl & e I gad fdbal g 2R U8 <& givl fb 34b &1 I &
Yebdll &1 Ugd drediich 93 IR Beb il alfeh R 3 IR 3-8i- THg WR el = &l M fhar i, adl
2RT IR & Ul WR e 71 o1 39 dve I, dIR AT 3R AHSU &l 211 o SIH & (AU Ad & ¢dig HI=Id
o U} drelics 4 Tg o favre SaRIRT W Il gisi &1 Ud a1 daR fbdr i | Taiv 9 ggl gel Mand!
Jaiery &l U HIeH fear g, [iHl 98 ok Xel 8l

Sub questions

Question Number : 141 Question Id : 4255897434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

W%@R&T@Hﬁﬁ@gw%?

1. 9l Dl GoHs Yfs

2. igd ®l TH AT UG I

3. 3EIH DI hY N o SR S, T Ui &b - o
4, PR U R dGD & [3eb Y

P

42558928917. 2

42558928918. 3

42558928919. 4

Question Number : 142 Question Id : 4255897435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

D b AMJUR Tl Tl Bl Goliddd YIS by 3fichl S Gebell &2
1. 3l &l 3[l 96 IH Il dgddbicuds SHIEATRT & TSl U1
2. MY wWiad aeyq wyiel & i g

3. ¢dU DI & YeR
4, g RYGEY S Hyg
Options :

42558928920. 1
42558928921. 2
42558928922. 3
42558928923. 4

Question Number : 143 Question Id : 4255897436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR N o - draflic &l fbd T T ¢Er g ?
1. dig fdaars bid & Fy o
2. %&g’aﬁqﬂmﬂamﬁ%*@qﬁﬁﬂﬁwaﬁaﬂﬁﬁaﬁ%@wﬁmﬁwmﬁg?ﬂn

3. Javiey & YgHnl Bid & wa I
4. AdAHAD dFR Y &I dGH ¢ did & =0 H

Options :



42558928924. 1
42558928925. 2
42558928926. 3
42558928927. 4

Question Number : 144 Question Id : 4255897437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

sﬂﬂﬂmfﬁrﬂ@aﬁm%
g WP B3I [ob SRAM hdd Ul — bl g, dicch b1 H G141 URSHd StiaH g g, fored
Wﬂwaﬂmﬂﬂ@ﬁﬁ%@?ﬂ%

2. drciich M@ &b Uit Tgd

3. Hﬁa?ﬂ@ﬁrﬁﬂuﬁaﬁwﬁam

4, Ul & 9T Gy I Y Il

Options :

42558928928. 1
42558928929. 2
42558928930. 3
42558928931. 4

Question Number : 145 Question Id : 4255897438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YRk TXpic bl ik I T M © -
1. Udh ¢l HIYI bl 3Tk didH drd ai

2. THyd Ul &l maiied U H detAr SR gl & dgHd J URdd Sl
3. NI BT UBIHRY 3R TEIH]
4, qUHD UMY B! G
Options :

42558928932. 1
42558928933. 2
42558928934. 3
42558928935. 4




Question Id : 4255897433 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Frafafad samwu of vargde ye Trafia wetl & 3w div/H

Y DI DY Al o S-S, T U4l o R U & Dlg AR A1 Sl gl fbdl guar o, dfcp
fobaft ot Wit Tl |, SRS ! 311 dgH & fobd 3R b [ddhetl 3 8l Uchd ©, sﬁ’lﬁaﬂwaﬂ
Yol THig SHicsl Sl Gebell ¢ 1 Sfd 1l g ciac 0 bl s UR 311 T3 G ebell & ol S eb! b e-TIReicll bl
W%Gﬁ?ﬁ?ﬂaﬁﬁmﬂﬂﬁﬁ% dg fobcHil SSH R Udhdll © SUD! Uh 3£ Hyial 8¢ HINT o ¥20f &b
iR &t i< gidl X5 & 349 Hdicl &l dgadl of ol vt Wxpid &t =fdd sidt ol ai arediie 4 4d
I AR P ol Ricuhdl fayhl & e I gad fdbal g 2R U8 <& givl fb 34b &1 I &
Yebdll &1 Ugd drediich 93 IR Beb il alfeh R 3 IR 3-8i- THg WR el = &l M fhar i, adl
2RT IR & Ul WR e 71 o1 39 dve I, dIR AT 3R AHSU &l 211 o SIH & (AU Ad & ¢dig HI=Id
o U} drelics 4 Tg o favre SaRIRT W Il gisi &1 Ud a1 daR fbdr i | Taiv 9 ggl gel Mand!
Jaiery &l U HIeH fear g, [iHl 98 ok Xel 8l

Sub questions

Question Number : 141 Question Id : 4255897434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

W%@R&T@Hﬁﬁ@gw%?

1. 9l Dl GoHs Yfs

2. igd ®l TH AT UG I

3. 3EIH DI hY N o SR S, T Ui &b - o
4, PR U R dGD & [3eb Y

P

42558928917. 2

42558928918. 3

42558928919. 4

Question Number : 142 Question Id : 4255897435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

D b AMJUR Tl Tl Bl Goliddd YIS by 3fichl S Gebell &2
1. 3l &l 3[l 96 IH Il dgddbicuds SHIEATRT & TSl U1
2. MY wWiad aeyq wyiel & i g

3. ¢dU DI & YeR
4, g RYGEY S Hyg
Options :

42558928920. 1
42558928921. 2
42558928922. 3
42558928923. 4

Question Number : 143 Question Id : 4255897436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR N o - draflic &l fbd T T ¢Er g ?
1. dig fdaars bid & Fy o
2. %&g’aﬁqﬂmﬂamﬁ%*@qﬁﬁﬂﬁwaﬁaﬂﬁﬁaﬁ%@wﬁmﬁwmﬁg?ﬂn

3. Javiey & YgHnl Bid & wa I
4. AdAHAD dFR Y &I dGH ¢ did & =0 H

Options :



42558928924. 1
42558928925. 2
42558928926. 3
42558928927. 4

Question Number : 144 Question Id : 4255897437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

sﬂﬂﬂmfﬁrﬂ@aﬁm%
g WP B3I [ob SRAM hdd Ul — bl g, dicch b1 H G141 URSHd StiaH g g, fored
Wﬂwaﬂmﬂﬂ@ﬁﬁ%@?ﬂ%

2. drciich WM™ &b Uit Tgd

3. Wﬂ@ﬁrﬁﬂuﬁaﬁwﬁam

4, Pl & T 1 Y Il

Options :

42558928928. 1
42558928929. 2
42558928930. 3
42558928931. 4

Question Number : 145 Question Id : 4255897438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T8k Tl bl ik I T 3HIH © -
1. U ol oI &l &I did- dard aiT
2. [Hudl Ul &l maiied U H dedAr SR g & dgHd J Ukdd Sl
3. NI BT UBIHRY 3R TEIH]
4, IUHD HINI B! @lol
Options :
42558928932. 1
42558928933. 2
42558928934, 3
42558928935. 4
Sub-Section Number : 3

Sub-Section Id : 425589298
Question Shuffling Allowed : No




Question Id : 4255897439 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

fFrafafad sEavur of eagde uge TEfd uyi & IR e

AT Bl Td a1 & Hiad U8 H a/ dxdl g, o/ SIRIER] JWR I Wid &R 1! Ui S Al | SHfau
3 3ATell=ieb T b U= AT (ST Hch & SeR Sl g | dg I=H1 DI dRdidd Ul Yl & 7 3G Igdl
© | 1 ATelih U WRT aRe Y T &1 G-I Rdl 6 | S8 U1 bl AIHId 3R Aiediyfd ar uRepror
b 1Y Yol [GKIR Bidl 81 331 Ul 2R dldd del g Gl diddl Bl Ugd &1 fbdl g & ‘il
ST BT §1 FUD dIe Hdl-ag o DY 3R FY I (AT Bl g-THI-HdIE &b 1Y | F-Hdlg I T
D1 YT I Ul oI STl & 3R T bl YHTd &l bl Uhs I 96 il 81 39 fobar 9 Tl o g RuRor o
AT gl Sl 81 s aR TeHI 31 Sifdd, gg 3R ARap gidl & fb -1 & W6 Id I HI&hR U
I Bl &1 Biddl 1 B g HTdl &1 URWHRU[, JeiIhRUl| hiddl o T BT Udi = T | SHidkdl ol g &1
U YR A=Y g1 Hiddl Bl 3 GRUTHIE el gd Xed &1 d Ul: rfidd gidl 81 g 3R o & faym
I ol Diddl T 3(a d¥g &l Yol ey gdl g1 =1 3¢ b sirdieHT Rigid sied ud =gl 8, 39 FR-R
GRad &1 3tef gl

Sub questions

Question Number : 146 Question Id : 4255897440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

RIS & T &b U bl by YT S Ydhell & ?
1. AT & il Ui | Udgr o

2. SIRERI3WR Y Wid &2

3. 3ATAED & ToR J ¢HdR

4. UTSMAIH & 9gR

Options :

42558928936. 1
42558928937. 2
42558928938. 3
42558928939. 4

Question Number : 147 Question Id : 4255897441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Y 3MTcdideh gRI1 T & YA H UIde &bl arHii-<ad gidi g ?

1. Uréd X 3fdidd &t UfdHI ST 36 §

2. UId &l UgH &l YH d¢ Siidl &

3. Ui ol WY 3R Yleaigyfd & uRthul & U 3YD| YeiHidD R gl Siidl &
4. UTED gl g dhd & Sl §

Options :

42558928940. 1
42558928941. 2
42558928942. 3
42558928943. 4

Question Number : 148 Question Id : 4255897442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR &b YR biddl & Jia= T 3H Y g ?

1. SiadI ol R g Y1l BT URSHRU], 3gRieUl

2. DIddIUe ol Udb UebR fa=10 g

3. 3fIdide Biadl Bl - AIidd gRHMIE Ted W &

4. b SR i Maied &1 ol Bl H ofeT g & o dof 38 8



Options :

42558928944. 1
42558928945. 2
42558928946. 3
42558928947. 4

Question Number : 149 Question Id : 4255897443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3T T RIg i ared i el &, Su dfaa & 3imdid o =T & 3meRi g 2

1.  dgdd &R ol b oAl el d- g g

2 mws%maﬂ aredlol ST SR TH-HAIE & Y Hdl-aR &b HH 3R FY ol
3. oid @l Ul &l yd FuiRor H AHES a4 1

4, [debl & YR R Did & J== T 301 bl M

Options :

42558928948. 1
42558928949. 2
42558928950. 3
42558928951. 4

Question Number : 150 Question Id : 4255897444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

THI & I-SIE I Y HIIh R b Il hdl g ?

1. @il U AT T-ag gidll o 3R I &bl Hldh A Tl el gial

2. HIYIHR U sifed qur g S/ 21g-1 < &l &H 9did §

3. U AT Sied, G SR WAy gldl 6, S el & -Gt I 3 Wb R Ueb Il o
4. 3ol o DL ATddD Al BT THHI B H B @l g

Options :

42558928952. 1
42558928953. 2
42558928954. 3
42558928955. 4



Question Id : 4255897439 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

fFrafafad saavur of eargde uga Jwafud uHi & IR e

AT &I Td g1 & Hiad U8 H aiT &l g, o/ SIRIERT JWR U Wid &R ¢! Ui S Al | 33fau
3 3ATell=ieb T b U= AT (ST Hch & SeR Sl g | dg I=H1 DI dRdidd Ul Yl & 7 3G Igdl
© | 1 ATelih U WRT aRe Y T &1 G-I Rdl 6 | S8 U1 bl AIHId 3R Aiediyfd ar uRepror
b 1Y Yol [GKIR Bidl 81 331 Ul 2R dldd del g Gl diddl Bl Ugd &1 fbdl g & ‘il
i1 D1 §1 3D dlc hdl-ag o D 3R FY bl [AeAHU] bl g-TaH-UdIG b 1Y | [-I-¥idlg I T2
D1 i I Ul =Id STl & 2R T ] YHTd &l Dl Uhs I 96 Siidl 1 39 fobar 9 3=l & g RuRor o
AT 8l il 81 s aR THI -1 Sifdd, gg 3R diRap gidl & I T & IEE Id I HI&chR U
I Bl &1 Biddl 1 B g HTdl &1 URWHRU[, JeiIhRUl| hiddl o T BT Udi = T | SHidkdl ol g &1
U YR A=Y g1 Hiddl Bl 3 GRUTHIE el gd Xed &1 d Ul: rfidd gidl 81 g 3R o & faym
I ol Diddl T 3(a d¥g &l Yol ey gdl g1 =1 3¢ b sirdieHT Rigid sied ud =gl 8, 39 FR-R
GRad &1 3rtef gl

Sub questions

Question Number : 146 Question Id : 4255897440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

RIS &b T &b I bl by YT S Ydbell © ?
1. & il U1 | Uagr e

2. SRR 3WR Y Hid B

3. 3ATAED & ToR J ¢HdR

4. UTSMAIH & 9gR

Options :

42558928936. 1
42558928937. 2
42558928938. 3
42558928939. 4

Question Number : 147 Question Id : 4255897441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

nﬁaaﬁ%mmaﬁmﬁwﬁmﬁam%?
Uréd ¥ 3ffelicid d! UfdHT ST 36<d 6
2. Uléd @l UgH &l Y d6 Sildl §
3. Ui ol WY 3R Yleaigyfd & uRthul & U 3YD| YeiHidD R gl Siidl &
4. UTED gl g dhd & Sl §

Options :

42558928940. 1
42558928941. 2
42558928942. 3
42558928943. 4

Question Number : 148 Question Id : 4255897442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR & (YR biddl & Jia= T 3H Y g ?

1. SiadI ol &R g Y1l &1 YRR, 3gRiBRl

2. DIddIUel bl Udb UbR a9 g

3. 3fIdide Biadl Bl - AIidd gRHMIE Ted W &

4. b SR i Maied &1 ol Bl H ofeT g & o dof 38 8



Options :

42558928944. 1
42558928945. 2
42558928946. 3
42558928947. 4

Question Number : 149 Question Id : 4255897443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3T T RIg i ared i el &, Su dfaa & 3imdid o =T & 3meRi g 2

1.  dgdd &R ol b oAl el d- g g

2 mws%maﬂ aredlol ST SR TH-HAIE & Y Hdl-aR &b HH 3R FY ol
3. oid @l Ul &l yd FuiRor H AHES a4 1

4, [debl & YR R Did & J== T 301 bl M

Options :

42558928948. 1
42558928949. 2
42558928950. 3
42558928951. 4

Question Number : 150 Question Id : 4255897444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

THI & I-SIE I Y HIIh R b Il hdl g ?

1. @il U AT T-ag gidll o 3R I &bl Hldh A Tl el gial

2. HIYIHR U sifed qur g S/ 21g-1 < &l &H 9did §

3. U AT Sied, G SR WAy gldl 6, S el & -Gt I 3 Wb R Ueb Il o
4. 3ol o DL ATddD Al BT THHI B H B @l g

Options :

42558928952. 1
42558928953. 2
42558928954. 3
42558928955. 4



